## **Government of Chhattisgarh**



Scholarship Scheme: Post Matric SC Scholarship State: Government of Chhattisgarh

Category: SC Sanction Number: N/8/4760/1/9/86328

Institute Name: Govt Chandulal Chand. Arts Sci. Coll. Patan Sanction Date: 08/03/2019

Academic Year: 2018-19 Applications Type: Fresh

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
130976	SURESH KUMAR BANJARE	Male	PGDCA/Computer Application/I	Fresh	8	530	4240	0	9390	9390	13630
194960	VIJAY KUMAR NONAME	Male	PGDCA/Computer Application/I	Fresh	8	530	4240	0	9390	9390	13630
195020	YOGESH KUMAR NONAME	Male	PGDCA/Computer Application/I	Fresh	8	530	4240	0	9390	9390	13630
320189	MANI RAM NONAME	Male	M. A./Sociology/I	Fresh	9	530	4770	0	1745	1745	6515
446313	CHHAYA CHELAK	Female	PGDCA/Computer Application/I	Fresh	9	530	4770	0	9390	9390	14160
660328	NEETA NO NAME	Female	PGDCA/Computer Application/I	Fresh	9	530	4770	0	9390	9390	14160
712850	MAHESH KUMAR	Male	M. Sc./Botany/I	Fresh	9	530	4770	0	6265	6265	11035
712970	NETRAM NO NAME	Male	M. Sc./Mathematics/I	Fresh	9	530	4770	0	1745	1745	6515
1129228	UMASHANKAR MARKANDE	Male	M. Sc./Chemistry/I	Fresh	9	530	4770	0	6265	6265	11035
1325812	GAURI NONAME	Female	M. A./Hindi/I	Fresh	9	530	4770	0	5245	5245	10015
1401197	SHASHI NO NAME	Female	M. A./Sociology/I	Fresh	9	530	4770	0	1745	1745	6515
1475733	CHANDRADEV LAHARE	Male	B. A./Arts/I	Fresh	9	300	2700	0	1515	1515	4215
1481742	VEENUKANT MARKANDEY	Male	B. Sc./Science/I	Fresh	9	300	2700	0	1565	1565	4265
1481786	DHANANJAY GILHARE	Male	B. Com./Commerce/I	Fresh	9	300	2700	0	1515	1515	4215
1483099	BHUSHAN LAL	Male	B. Com./Commerce/I	Fresh	9	300	2700	0	1515	1515	4215

### **Declaration:**

Place : Date :

## **Government of Chhattisgarh**



Scholarship Scheme: Post Matric SC Scholarship

Category: SC

Institute Name: Govt Chandulal Chand. Arts Sci. Coll. Patan

Academic Year: 2018-19

State: Government of Chhattisgarh

Sanction Number: N/8/4760/1/9/86328

Sanction Date: 08/03/2019

Applications Type: Fresh

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1483659	DIGESHWAR NONAME	Male	B. Sc./Science/I	Fresh	9	300	2700	0	1565	1565	4265
1483540	MANISHA BAGHEL	Female	B. A./Arts/I	Fresh	9	300	2700	0	1515	1515	4215
1483596	SONURAM BANJARE	Male	B. Sc./Science/I	Fresh	9	300	2700	0	1565	1565	4265
1486626	DHIRENDRA KUMAR	Male	B. A./Arts/I	Fresh	9	300	2700	0	1515	1515	4215
1486874	RADHIKA BANJARE	Female	B. A./Arts/I	Fresh	9	300	2700	0	1515	1515	4215
1489615	MONIKA BAGHEL	Female	B. A./Arts/I	Fresh	9	300	2700	0	1515	1515	4215
1493727	NEHA TANDON	Female	B. A./Arts/I	Fresh	9	300	2700	0	1515	1515	4215
1494045	SUMAN BAGHEL	Female	B. Sc./Science/I	Fresh	9	300	2700	0	1565	1565	4265
1494151	YAMINI BARLE	Female	B. A./Arts/I	Fresh	9	300	2700	0	1515	1515	4215
1495192	MAHESHWARI KOSALE	Female	B. Sc./Science/I	Fresh	9	300	2700	0	1565	1565	4265
1496542	LOKESHWARI BANJARE	Female	B. Sc./Science/I	Fresh	9	300	2700	0	1565	1565	4265
1498410	NEELAM NO NAME	Female	B. Sc./Science/I	Fresh	9	300	2700	0	1565	1565	4265
1498905	KHILESHWARI SARANG	Female	B. A./Arts/I	Fresh	9	300	2700	0	1515	1515	4215
1498915	PANKAJ GAYAKWAD	Male	B. A./Arts/I	Fresh	9	300	2700	0	1515	1515	4215
1503603	BIMLA JANGDE	Female	B. Sc./Science/I	Fresh	9	300	2700	0	1565	1565	4265
1517795	CHANCHALA BANDE	Female	B. A./Arts/I	Fresh	9	300	2700	0	1515	1515	4215
1536959	DEVPRAKASH JANGDE	Male	B. Sc./Science/I	Fresh	9	300	2700	0	1565	1565	4265
1599132	PRAKASH JOSHI	Male	B. A./Arts/I	Fresh	9	300	2700	0	1515	1515	4215

### **Declaration:**

Place : Date :

## **Government of Chhattisgarh**



Scholarship Scheme: Post Matric SC Scholarship

Category: SC

Institute Name: Govt Chandulal Chand. Arts Sci. Coll. Patan

Academic Year: 2018-19

State: Government of Chhattisgarh

Sanction Number: N/8/4760/1/9/86328 Sanction Date: 08/03/2019

Applications Type : Fresh

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1595922	SHIVANI NO NAME	Female	B. Com./Commerce/I	Fresh	9	300	2700	0	1515	1515	4215
1593901	HEMLATA NONAME	Female	B. Sc./Science/I	Fresh	9	300	2700	0	1565	1565	4265
1588150	MANISHA CHANDANE	Female	B. A./Arts/I	Fresh	9	300	2700	0	1515	1515	4215
1587810	PINKEE MARKANDE	Female	B. A./Arts/I	Fresh	9	300	2700	0	1515	1515	4215
1500596	TRIVENI BANJARE	Female	B. A./Arts/I	Fresh	9	300	2700	0	1515	1515	4215
1505569	MANISHA NO NAME	Female	B. Sc./Science/I	Fresh	9	300	2700	0	1565	1565	4265
1507588	LOKESHWAR KUMAR	Male	B. A./Arts/I	Fresh	9	300	2700	0	1515	1515	4215
1507728	POOJA BANJARE	Female	B. Sc./Science/I	Fresh	9	570	5130	0	1565	1565	6695
1507962	NISHA BAGHEL	Female	B. Sc./Science/I	Fresh	9	570	5130	0	1565	1565	6695
1516246	VARSHA NONAME	Female	B. Com./Commerce/I	Fresh	9	300	2700	0	1515	1515	4215
1516642	YAMINI TANDAN	Female	B. Com./Commerce/I	Fresh	9	300	2700	0	1515	1515	4215
1518244	GAJENDRA KUMAR	Male	B. A./Arts/I	Fresh	9	300	2700	0	1515	1515	4215
1518462	YOGESHWARI JOGI	Female	B. A./Arts/I	Fresh	9	300	2700	0	1515	1515	4215
1521593	TAJENDRA KUMAR	Male	B. Sc./Science/I	Fresh	9	300	2700	0	1565	1565	4265
1529442	TAKESHWARI BAGHEL	Female	M. A./Sociology/I	Fresh	9	530	4770	0	1745	1745	6515
1592714	MANISHA KURRE	Female	B. A./Arts/I	Fresh	9	570	5130	0	1515	1515	6645
1577060	ROHIT KUMAR	Male	B. A./Arts/I	Fresh	9	300	2700	0	1515	1515	4215
1576678	PRAVIN BARLE	Male	B. Sc./Science/I	Fresh	9	300	2700	0	1565	1565	4265

## **Declaration:**

Place : Date :

## **Government of Chhattisgarh**



Scholarship Scheme: Post Matric SC Scholarship State: Government of Chhattisgarh

Category: SC Sanction Number: N/8/4760/1/9/86328

Institute Name: Govt Chandulal Chand. Arts Sci. Coll. Patan Sanction Date: 08/03/2019

Academic Year: 2018-19 Applications Type: Fresh

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1571246	PRIYANKA JANGADE	Female	B. A./Arts/I	Fresh	9	570	5130	0	1515	1515	6645
1570764	SEEMA JANGDE	Female	B. A./Arts/I	Fresh	9	570	5130	0	1515	1515	6645
1562319	VIKASH KUMAR BANJARE	Male	B. A./Arts/I	Fresh	9	300	2700	0	1515	1515	4215
1547704	MONIKA BANDHEL	Female	B. A./Arts/I	Fresh	9	300	2700	0	1515	1515	4215
1556387	VEDKUMARI JANGDE	Female	B. Sc./Science/I	Fresh	9	570	5130	0	1565	1565	6695
1568285	KAJAL GAJPAL	Female	B. Sc./Science/I	Fresh	9	300	2700	0	1565	1565	4265
1537123	YOGESH KUMAR DESHLAHRE	Male	B. A./Arts/I	Fresh	9	300	2700	0	1515	1515	4215
1544184	JAYSHREE JANGDE	Female	B. Sc./Science/I	Fresh	9	570	5130	0	1565	1565	6695
1544266	VEENA KURRE	Female	B. A./Arts/I	Fresh	9	570	5130	0	1515	1515	6645
1529672	SAVITRI KURRE	Female	B. A./Arts/I	Fresh	10	300	3000	0	1515	1515	4515
1546604	VINITA MANDLESH	Female	B. A./Arts/I	Fresh	10	300	3000	0	1515	1515	4515
1546750	HARISH KUMAR BARLE	Male	B. Sc./Science/I	Fresh	9	300	2700	0	1565	1565	4265
1548854	ABHISHEK KURRE	Male	B. A./Arts/I	Fresh	9	300	2700	0	1515	1515	4215
						Total :	216090	0	151435	151435	367525

## **Declaration:**

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to ..... I do here by sanctioning a sum of Rs. .....Out of which Rs.....as maintenance allowance and Rs. ....as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.

Place: Date:

## **Government of Chhattisgarh**



Scholarship Scheme: Post Matric SC Scholarship State: Government of Chhattisgarh

Category: SC Sanction Number: R/8/4760/1/9/86337

Institute Name: Govt Chandulal Chand. Arts Sci. Coll. Patan

Sanction Date: 08/03/2019

Academic Year: 2018-19

Applications Type: Renewal

**Application ID Student Name** Gender Course Rate Maintenence Tuition Fee Other Fee **Total Fee Total Amount Type** No. of Month **Allowance** 214097 TAMESHWAR NONAME Male B. A./Arts/III Renewal 7 300 2100 0 1515 1515 3615 412879 AARTI NO NAME Female M. A./Hindi/II Renewal 9 530 4770 0 5245 5245 10015 538540 HEMANT KUMAR NO NAME Male M. A./Hindi/II 9 530 4770 0 5245 5245 10015 Renewal 545565 MANJUSA SONWANI Female M. A./Hindi/II Renewal 9 530 4770 0 5245 5245 10015 619238 BHUPENDRA BARLE Male M. Sc./Chemistry/II Renewal 9 530 4770 0 6265 6265 11035 7 300 0 1515 3615 630770 DEEPIKA NO NAME Female B. A./Arts/II Renewal 2100 1515 Male B. A./Arts/II 7 2100 0 1515 1515 3615 669032 TOMAN LAL NONAME Renewal 300 7 3615 1012794 MINAKSHEE NO NAME Female B. A./Arts/III Renewal 300 2100 0 1515 1515 7 1515 3615 1000608 POOJA NONAME B. A./Arts/III Renewal 300 2100 0 1515 Female 7 949353 HIRMANI NONAME B. A./Arts/III 300 2100 0 1515 1515 3615 Female Renewal 8 300 0 788385 OMKAR PRASAD NO NAME Male B. Sc./Science/III Renewal 2400 1565 1565 3965 697077 SEEMA NONAME Female B. A./Arts/III 7 300 2100 0 1515 1515 3615 Renewal 9 530 4770 0 6265 6265 11035 678138 Rupali Raj Female M. Sc./Botany/II Renewal 7 Male B. Sc./Science/II 300 2100 0 1565 1565 3665 1354283 CHANDRAKANT BANJARE Renewal 1353830 MONIKA BAGHEL B. Sc./Science/II 8 300 2400 0 1565 1565 3965 Female Renewal 1353574 KIRAN KURRE 7 0 Female B. A./Arts/II Renewal 300 2100 1515 1515 3615 1353499 DIMPAL KAMDE Female B. A./Arts/III Renewal 8 300 2400 0 1515 1515 3915

#### **Declaration:**

Place : Date :

## **Government of Chhattisgarh**



Scholarship Scheme: Post Matric SC Scholarship State: Government of Chhattisgarh

Category: SC Sanction Number: R/8/4760/1/9/86337

Institute Name: Govt Chandulal Chand. Arts Sci. Coll. Patan

Sanction Date: 08/03/2019

Academic Year: 2018-19

Applications Type: Renewal

Application ID Maintenence Tuition Fee Other Fee **Total Fee Total Amount Student Name** Gender Course **Type** No. of Rate **Allowance** Month 1346561 LEKHRAM NONAME Male B. A./Arts/II Renewal 7 300 2100 0 1515 1515 3615 7 1344944 MAHESHWARI TANDAN Female B. A./Arts/II Renewal 300 2100 0 1515 1515 3615 1345144 PUSHPLATA NO NAME Female B. A./Arts/II Renewal 7 300 2100 1515 1515 3615 1344874 KEDAR NONAME Male B. A./Arts/II Renewal 7 300 2100 0 1515 1515 3615 1340934 MONIKA BARLE B. Sc./Science/II Renewal 8 300 2400 0 1565 1565 3965 Female 8 300 2400 0 1565 1565 3965 1340647 PRIYANKA MAHILANGE Female B. Sc./Science/II Renewal 1344836 AMRAUTIN TANDAN Female B. A./Arts/III 7 300 2100 0 1515 1515 3615 Renewal 1335602 LALITA SAARANG B. A./Arts/II 7 300 2100 0 1515 1515 3615 Female Renewal 7 1235574 SHANKAR NO NAME Male B. A./Arts/III Renewal 300 2100 0 1515 1515 3615 7 1236454 TIKESHWARI KHUTEL Female B. A./Arts/III Renewal 300 2100 0 1515 1515 3615 1235177 NETRANI DESHLAHRE 7 0 3615 Female B. A./Arts/III Renewal 300 2100 1515 1515 8 1015390 PRITI NO NAME B. Sc./Science/III Renewal 300 2400 0 1565 1565 3965 Female 7 1015939 DILESHWARI NO NAME Female B. A./Arts/III Renewal 570 3990 0 1515 1515 5505 1057140 PRIYANKA MANHARE B. A./Arts/III 8 300 2400 0 1515 1515 3915 Female Renewal 7 1105909 RINA MARKANDE Female B. A./Arts/III Renewal 570 3990 0 1515 1515 5505 8 1221537 PRIYANKA DAHARIYA Female B. Sc./Science/III Renewal 570 4560 0 1565 1565 6125 1221557 BHAGYAWATI JANGDE Female B. Sc./Science/III Renewal 8 570 4560 0 1565 1565 6125 7 1221947 ANITA KOSRE Female B. A./Arts/III 570 3990 0 1515 1515 5505 Renewal

## **Declaration:**

Place : Date :

## **Government of Chhattisgarh**



Scholarship Scheme: Post Matric SC Scholarship State: Government of Chhattisgarh

Category: SC Sanction Number: R/8/4760/1/9/86337

Institute Name: Govt Chandulal Chand. Arts Sci. Coll. Patan

Sanction Date: 08/03/2019

Academic Year: 2018-19

Applications Type: Renewal

Application ID Tuition Fee Other Fee **Total Fee Total Amount Student Name** Gender Course **Type** No. of Rate Maintenence Month **Allowance** 1225208 TAMESH KUMAR NO NAME Male M. Sc./Mathematics/II Renewal 9 530 4770 0 1745 1745 6515 8 1228553 SARASWATI BANJARE Female B. Sc./Science/III Renewal 300 2400 0 1565 1565 3965 1230173 REEMA NO NAME Female B. A./Arts/III Renewal 9 300 2700 1515 1515 4215 1232953 AARTI BANJARE Female B. Sc./Science/III Renewal 8 570 4560 0 1565 1565 6125 1234024 CHANDANI CHELAK Female B. A./Arts/III Renewal 8 300 2400 0 1515 1515 3915 7 570 3990 0 5505 1234557 MAMTA BANJARE Female B. A./Arts/III Renewal 1515 1515 1236650 DAMINEE GOYAL Female B. A./Arts/III 7 300 2100 0 1515 1515 3615 Renewal Male 7 300 2100 0 1515 1515 3615 1239025 TIKESHWAR SONWANI B. A./Arts/III Renewal 7 1247438 LOKESHWAR KUMAR Male B. A./Arts/III Renewal 300 2100 0 1515 1515 3615 7 1289889 SEEMA MANHARE Female B. A./Arts/II Renewal 300 2100 0 1515 1515 3615 7 0 3615 1291060 TRILOCHAN NO NAME Male B. A./Arts/III Renewal 300 2100 1515 1515 7 1337485 NEELMANI SONWANI Male B. A./Arts/II Renewal 300 0 1515 1515 3615 2100 7 1338177 PRIYANKA BHARTI Female B. A./Arts/II Renewal 300 2100 0 1515 1515 3615 1340293 PRASHANT KUMAR Male B. Com./Commerce/II 8 300 2400 0 1515 1515 3915 Renewal 8 1340800 YAMINI BAGHEL Female B. Sc./Science/II Renewal 300 2400 0 1565 1565 3965 8 1355112 LAXMINARAYAN BANJARE Male B. Sc./Science/III Renewal 300 2400 0 1565 1565 3965 1358442 SUMAN BHARTI Female B. Sc./Science/II Renewal 8 300 2400 0 1565 1565 3965 8 B. Sc./Science/II 570 4560 0 1565 1565 6125 1359815 Denisha Kurre Female Renewal

#### **Declaration:**

Place : Date :

## **Government of Chhattisgarh**



Scholarship Scheme: Post Matric SC Scholarship State: Government of Chhattisgarh

Category: SC Sanction Number: R/8/4760/1/9/86337

Institute Name: Govt Chandulal Chand. Arts Sci. Coll. Patan

Sanction Date: 08/03/2019

Academic Year: 2018-19

Applications Type: Renewal

Application ID Maintenence Tuition Fee Other Fee **Total Fee Total Amount Student Name** Gender Course **Type** No. of Rate **Allowance** Month 1361276 SEEMA CHATRUVEDI Female B. A./Arts/II Renewal 7 570 3990 0 1515 1515 5505 7 1361386 JYOTI BANJARE Female B. A./Arts/III Renewal 570 3990 0 1515 1515 5505 1362356 ANJANI CHELAK Female B. A./Arts/II Renewal 7 300 2100 1515 1515 3615 1362545 DEEPAK KUMAR Male B. A./Arts/II Renewal 7 300 2100 0 1515 1515 3615 1365126 NISHARANI CHANDEL B. A./Arts/III Renewal 7 300 2100 0 1515 1515 3615 Female 8 300 2400 0 1565 1565 3965 1366966 PRABHA BANJARE Female B. Sc./Science/II Renewal 1367020 LALITA GILHARE Female B. Sc./Science/II 8 300 2400 0 1565 1565 3965 Renewal 7 300 2100 0 1515 1515 3615 1371014 MALTI BANJAARE Female B. A./Arts/II Renewal 7 1371837 KAMLESH KUMAR Male B. A./Arts/II Renewal 300 2100 0 1515 1515 3615 7 1372862 ANIKET BANJARE Male B. A./Arts/II Renewal 300 2100 0 1515 1515 3615 1373037 DEEPIKA BANJARE 7 0 3615 Female B. A./Arts/II Renewal 300 2100 1515 1515 7 1373652 VEDKUMARI JOSHI B. A./Arts/II Renewal 300 2100 0 1515 1515 3615 Female 7 1382181 DIVYANI JANGDHE Female B. A./Arts/II Renewal 300 2100 0 1515 1515 3615 1382233 ROHANI KOSARE 7 300 2100 0 1515 1515 3615 Female B. A./Arts/II Renewal 7 1382544 AJAY KUMAR Male B. A./Arts/II Renewal 300 2100 0 1515 1515 3615 7 1382738 SHESHNARAYAN BANDHEL Male B. A./Arts/II Renewal 300 2100 0 1515 1515 3615 7 1382910 KHUSHBU BANDHEL Female B. A./Arts/II Renewal 300 2100 0 1515 1515 3615 1388746 KU. SEEMA NO NAME M. Sc./Chemistry/II 9 530 4770 0 6265 6265 11035 Female Renewal

#### **Declaration:**

Place : Date :

## **Government of Chhattisgarh**



Scholarship Scheme: Post Matric SC Scholarship State: Government of Chhattisgarh

Category: SC Sanction Number: R/8/4760/1/9/86337

Institute Name: Govt Chandulal Chand. Arts Sci. Coll. Patan

Sanction Date: 08/03/2019

Academic Year: 2018-19 Applications Type: Renewal

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1389321	SANJANA GRAHAN	Female	B. Sc./Science/II	Renewal	8	300	2400	0	1565	1565	3965
1390227	RUPESH KUMAR	Male	B. A./Arts/II	Renewal	7	300	2100	0	1515	1515	3615
1391729	NEHA KURRE	Female	B. Com./Commerce/II	Renewal	8	300	2400	0	1515	1515	3915
1400179	TUNISHA KHELWADE	Female	B. A./Arts/III	Renewal	7	300	2100	0	1515	1515	3615
1381721	CHANDAN NONAME	Male	B. A./Arts/II	Renewal	7	300	2100	0	1515	1515	3615
1391148	SHAILENDRI CHATURVEDI	Female	B. A./Arts/II	Renewal	7	570	3990	0	1515	1515	5505
1394973	TOMAN LAL	Male	B. A./Arts/II	Renewal	7	300	2100	0	1515	1515	3615
1400731	UMA BAGHEL	Female	B. A./Arts/III	Renewal	7	300	2100	0	1515	1515	3615
1401445	PINTU KUMAR	Male	B. A./Arts/II	Renewal	7	300	2100	0	1515	1515	3615
1402113	RENUKA BHARTI	Female	B. A./Arts/II	Renewal	7	570	3990	0	1515	1515	5505
1407128	SOHAN NO NAME	Male	B. A./Arts/II	Renewal	7	300	2100	0	1515	1515	3615
1414130	RATRI KOSRE	Female	B. Sc./Science/III	Renewal	8	570	4560	0	1565	1565	6125
1424833	PRAVIN KUMAR	Male	B. A./Arts/III	Renewal	7	300	2100	0	1515	1515	3615
1425573	HAREESH KUMAR	Male	B. A./Arts/III	Renewal	7	300	2100	0	1515	1515	3615
1425613	DHALESHWARI NONAME	Female	B. A./Arts/II	Renewal	7	300	2100	0	1515	1515	3615
1428599	KRISHNDATT SHIVARE	Male	B. A./Arts/II	Renewal	7	300	2100	0	1515	1515	3615
1438736	RAKESH KUMAR	Male	B. A./Arts/III	Renewal	7	300	2100	0	1515	1515	3615
1439308	KAVITA MIRE	Female	B. A./Arts/III	Renewal	7	300	2100	0	1515	1515	3615

### **Declaration:**

Place : (Signature &

(Signature & Seal of Head of the Institution)
Name (Capital Leters):

Date:

## **Government of Chhattisgarh**



Scholarship Scheme: Post Matric SC Scholarship

Category: SC

Institute Name: Govt Chandulal Chand. Arts Sci. Coll. Patan

Academic Year: 2018-19

State: Government of Chhattisgarh

\_

Sanction Date : 08/03/2019

Sanction Number: R/8/4760/1/9/86337

Applications Type: Renewal

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1441224	RAMAKANT NO NAME	Male	B. Sc./Science/II	Renewal	7	300	2100	0	1565	1565	3665
1449923	BHARTI DESHLAHRE	Female	B. A./Arts/II	Renewal	7	300	2100	0	1515	1515	3615
1489255	ARUN KUMAR JANGDE	Male	B. A./Arts/III	Renewal	7	300	2100	0	1515	1515	3615
1494366	RAVIKUMAR NONAME	Male	B. A./Arts/II	Renewal	7	300	2100	0	1515	1515	3615
1525275	MADHU NONAME	Female	B. A./Arts/III	Renewal	7	570	3990	0	1515	1515	5505
1545867	HARISH KUMAR	Male	B. A./Arts/III	Renewal	8	300	2400	0	1515	1515	3915
1559362	NEELAM JOSHI	Female	B. A./Arts/II	Renewal	7	300	2100	0	1515	1515	3615
1578046	MAYA NONAME	Female	B. Sc./Science/II	Renewal	7	300	2100	0	1565	1565	3665
1588745	USHA BANDHEL	Female	B. A./Arts/II	Renewal	7	300	2100	0	1515	1515	3615
1607223	BHARTI NONAME	Female	B. A./Arts/II	Renewal	7	300	2100	0	1515	1515	3615
1591227	SADHANA KURRE	Female	B. Com./Commerce/II	Renewal	8	300	2400	0	1515	1515	3915
1566197	RAMESHWARI DESHLAHRE	Female	B. A./Arts/III	Renewal	7	300	2100	0	1515	1515	3615
1534664	BHUPESHWARI MARKANDE	Female	B. A./Arts/II	Renewal	7	300	2100	0	1515	1515	3615
1501066	ANJU NONAME	Female	B. A./Arts/III	Renewal	8	300	2400	0	1515	1515	3915
1608470	BHARTI BANJARE	Female	M. Sc./Zoology/II	Renewal	9	530	4770	0	6265	6265	11035
1579979	JAGESHWAR PRASAD DESHLAHARE	Male	B. A./Arts/II	Renewal	7	300	2100	0	1515	1515	3615
1526447	TRIPTI CHATURVEDI	Female	B. Sc./Science/II	Renewal	7	300	2100	0	1565	1565	3665

## **Declaration:**

Place : Date :

## **Government of Chhattisgarh**



Scholarship Scheme: Post Matric SC Scholarship

Category: SC

Institute Name: Govt Chandulal Chand. Arts Sci. Coll. Patan

Academic Year: 2018-19

State: Government of Chhattisgarh

Sanction Number: R/8/4760/1/9/86337

Sanction Date : 08/03/2019

Applications Type: Renewal

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1448065	JAGESHWARI DESHLAHARE	Female	B. A./Arts/II	Renewal	7	300	2100	0	1515	1515	3615
						Total :	281970	0	193575	193575	475545

## **Declaration:**

Place : Date :

Page 7/7

## **Government of Chhattisgarh**



Scholarship Scheme: Post Matric ST Scholarship State: Government of Chhattisgarh

Category: ST Sanction Number: N/8/4760/2/7/86295

Institute Name: Govt Chandulal Chand. Arts Sci. Coll. Patan Sanction Date: 08/03/2019

Academic Year: 2018-19 Applications Type: Fresh

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
631074	JAYA NO NAME	Female	M. Sc./Zoology/I	Fresh	9	530	4770	0	6265	6265	11035
1156121	VIKAS KUMAR THAKUR	Male	M. A./Pol. Science/I	Fresh	9	530	4770	0	1745	1745	6515
1185816	RUPESH KUMAR	Male	M. Sc./Zoology/I	Fresh	9	530	4770	0	6265	6265	11035
1488739	BHOMIKA THAKUR	Female	B. A./Arts/I	Fresh	9	300	2700	0	1515	1515	4215
1488777	KIRAN THAKUR	Female	B. A./Arts/I	Fresh	9	300	2700	0	1515	1515	4215
1490075	LAXMI NARAYAN	Male	B. Sc./Science/I	Fresh	9	300	2700	0	1565	1565	4265
1497479	KAVITA NETAM	Female	B. Sc./Science/I	Fresh	9	300	2700	0	1565	1565	4265
1500001	HEMA NONAME	Female	B. A./Arts/I	Fresh	9	300	2700	0	1515	1515	4215
1500271	SUSHMA NETAM	Female	B. A./Arts/I	Fresh	9	300	2700	0	1515	1515	4215
1501436	DILESH THAKUR	Female	B. A./Arts/I	Fresh	9	300	2700	0	1515	1515	4215
1503803	YOGITA THAKUR	Female	B. A./Arts/I	Fresh	9	570	5130	0	1515	1515	6645
1506300	AARTI NONAME	Female	B. A./Arts/I	Fresh	9	300	2700	0	1515	1515	4215
1516268	LAXMI THAKUR	Female	B. A./Arts/I	Fresh	9	300	2700	0	1515	1515	4215
1516696	MANISH KUMAR	Male	B. Sc./Science/I	Fresh	9	300	2700	0	1565	1565	4265
1517159	TRIBHUVAN NO NAME	Male	B. Sc./Science/I	Fresh	9	300	2700	0	1565	1565	4265
1520218	MUNIKA NO NAME	Female	B. A./Arts/I	Fresh	9	300	2700	0	1515	1515	4215
1521480	GAYATREE THAKUR	Female	M. A./Pol. Science/I	Fresh	9	530	4770	0	1745	1745	6515

### **Declaration:**

Place:

(Signature & Seal of Head of the Institution)
Name (Capital Leters):

Date:

## **Government of Chhattisgarh**



Scholarship Scheme: Post Matric ST Scholarship State: Government of Chhattisgarh

Category: ST Sanction Number: N/8/4760/2/7/86295

Institute Name : Govt Chandulal Chand. Arts Sci. Coll. Patan Sanction Date : 08/03/2019

Academic Year: 2018-19 Applications Type: Fresh

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1525563	LEENA THAKUR	Female	B. Sc./Science/I	Fresh	9	300	2700	0	1565	1565	4265
1528289	JASVEER THAKUR	Female	B. A./Arts/I	Fresh	9	300	2700	0	1515	1515	4215
1528834	OMBATI NETAM	Female	B. Com./Commerce/I	Fresh	9	300	2700	0	1515	1515	4215
1535170	LOKESH KUMAR	Male	B. Com./Commerce/I	Fresh	9	300	2700	0	1515	1515	4215
1535859	KIRTI THAKUR	Female	B. A./Arts/I	Fresh	9	300	2700	0	1515	1515	4215
1536957	JAYA NO NAME	Female	B. A./Arts/I	Fresh	9	300	2700	0	1515	1515	4215
1539576	ANNU THAKUR	Female	B. A./Arts/I	Fresh	9	300	2700	0	1515	1515	4215
1546427	GARIMA THAKUR	Female	B. Sc./Science/I	Fresh	9	300	2700	0	1565	1565	4265
1547874	MANJU THAKUR	Female	B. A./Arts/I	Fresh	9	300	2700	0	1515	1515	4215
1557231	BHARTI THAKUR	Female	B. A./Arts/I	Fresh	9	300	2700	0	1515	1515	4215
1559387	NOMESH KUMAR	Male	B. A./Arts/I	Fresh	9	300	2700	0	1515	1515	4215
1563064	PRASHANT KUMAR THAKUR	Male	B. A./Arts/I	Fresh	9	300	2700	0	1515	1515	4215
1571012	LOKESH KUMAR	Male	B. Sc./Science/I	Fresh	9	300	2700	0	1565	1565	4265
1578288	DAMINEE THAKUR	Female	B. A./Arts/I	Fresh	9	300	2700	0	1515	1515	4215
1580152	RUPENDRA KUMAR	Male	B. Sc./Science/I	Fresh	9	300	2700	0	1565	1565	4265
				Total :	97110	0	58840	58840	155950		

## **Declaration:**

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to ...... I do here by sanctioning a sum of Rs. .................Out of which Rs...............as maintenance allowance and Rs. .................as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.

Place:

(Signature & Seal of Head of the Institution)
Name (Capital Leters):

Date:

## **Government of Chhattisgarh**



Scholarship Scheme: Post Matric ST Scholarship

Category: ST

Institute Name: Govt Chandulal Chand. Arts Sci. Coll. Patan

Academic Year: 2018-19

State: Government of Chhattisgarh

Sanction Number : R/8/4760/2/7/86326

Sanction Date: 08/03/2019

Applications Type: Renewal

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
193855	GIRWAR NONAME	Male	B. A./Arts/II	Renewal	7	300	2100	0	1515	1515	3615
372832	AMRITA NO NAME	Female	M. Sc./Chemistry/II	Renewal	9	530	4770	0	6265	6265	11035
393081	SURAJ KUMAR NONAME	Male	B. A./Arts/III	Renewal	7	300	2100	0	1515	1515	3615
672978	PURAN KUMAR NONAME	Male	B. A./Arts/III	Renewal	7	300	2100	0	1515	1515	3615
705151	ISHWAR KUMAR	Male	B. Sc./Science/III	Renewal	8	300	2400	0	1565	1565	3965
842326	MANISH DHRUW	Male	B. A./Arts/III	Renewal	7	300	2100	0	1515	1515	3615
912751	SUBHASH KUMAR NO NAME	Male	B. A./Arts/III	Renewal	7	300	2100	0	1515	1515	3615
969065	NEHA NETAM	Female	B. Sc./Science/III	Renewal	8	300	2400	0	1565	1565	3965
1075258	KHILESHWARI XXXXXXX	Female	B. Sc./Science/III	Renewal	8	300	2400	0	1565	1565	3965
1121292	SHISHUPAL NA	Male	M. Sc./Zoology/II	Renewal	9	530	4770	0	6265	6265	11035
1231619	LIKHIL KUMAR	Male	B. A./Arts/II	Renewal	7	300	2100	0	1515	1515	3615
1246962	RENUKA NA	Female	B. A./Arts/III	Renewal	7	300	2100	0	1515	1515	3615
1247978	RESHAMA THAKUR	Female	B. A./Arts/III	Renewal	7	300	2100	0	1515	1515	3615
1332326	EENA THAKUR	Female	B. A./Arts/II	Renewal	7	300	2100	0	1515	1515	3615
1336565	MONIKA NONAME	Female	B. A./Arts/III	Renewal	7	300	2100	0	1515	1515	3615
1337427	KHILESH KUMAR THAKUR	Male	B. A./Arts/II	Renewal	7	300	2100	0	1515	1515	3615
1337719	NEHA THAKUR	Female	B. A./Arts/II	Renewal	7	300	2100	0	1515	1515	3615

## **Declaration:**

Place : Date :

Name (Capital Leters) :

(Signature & Seal of Head of the Institution)

## **Government of Chhattisgarh**



Scholarship Scheme: Post Matric ST Scholarship

Category: ST

Institute Name: Govt Chandulal Chand. Arts Sci. Coll. Patan

Academic Year: 2018-19

State: Government of Chhattisgarh

Sanction Number: R/8/4760/2/7/86326

Sanction Date : 08/03/2019

Applications Type: Renewal

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1339743	PRIYA NONAME	Female	B. A./Arts/II	Renewal	7	300	2100	0	1515	1515	3615
1345711	DEMAN THAKUR	Male	B. A./Arts/II	Renewal	9	300	2700	0	1515	1515	4215
1362672	LOKESHWARI THAKUR	Female	B. A./Arts/II	Renewal	7	300	2100	0	1515	1515	3615
1362988	UPASANA THAKUR	Female	M. Sc./Botany/II	Renewal	9	530	4770	0	6265	6265	11035
1363215	TEMAN LAL	Male	B. Sc./Science/II	Renewal	8	300	2400	0	1565	1565	3965
1363971	ROHANI THAKUR	Female	B. A./Arts/III	Renewal	7	300	2100	0	1515	1515	3615
1374135	ARUN KUMAR THAKUR	Male	B. A./Arts/II	Renewal	7	300	2100	0	1515	1515	3615
1374573	MANJU NONAME	Female	B. A./Arts/II	Renewal	7	300	2100	0	1515	1515	3615
1380673	KARUNA THAKUR	Female	B. Com./Commerce/II	Renewal	8	300	2400	0	1515	1515	3915
1383074	SUMAN THAKUR	Female	B. A./Arts/III	Renewal	7	300	2100	0	1515	1515	3615
1391444	PINKI THAKUR	Female	B. A./Arts/II	Renewal	7	300	2100	0	1515	1515	3615
1612571	JANKI DHRUW	Female	B. A./Arts/III	Renewal	7	300	2100	0	1515	1515	3615
1595094	ANITA THAKUR	Female	B. A./Arts/III	Renewal	7	300	2100	0	1515	1515	3615
1593405	POOJA NO NAME	Female	B. A./Arts/II	Renewal	7	300	2100	0	1515	1515	3615
1587923	DURGESH NONAME	Male	B. Sc./Science/III	Renewal	8	300	2400	0	1565	1565	3965
1574916	HEMWATI THAKUR	Female	B. A./Arts/II	Renewal	7	300	2100	0	1515	1515	3615
1568164	HULAS DHRUW	Male	M. Sc./Botany/II	Renewal	9	530	4770	0	6265	6265	11035
1547633	DHANESHWARI THAKUR	Female	B. A./Arts/III	Renewal	7	300	2100	0	1515	1515	3615

## **Declaration:**

Place : Date :

1392033 VARSHA THAKUR

1408510 SHAIL KATLAM

1441201 NEETU THAKUR

## **Government of Chhattisgarh**



Scholarship Scheme: Post Matric ST Scholarship State: Government of Chhattisgarh

Category: ST Sanction Number: R/8/4760/2/7/86326

Institute Name: Govt Chandulal Chand. Arts Sci. Coll. Patan

Sanction Date: 08/03/2019

Academic Year: 2018-19

Applications Type: Renewal

**Application ID** Maintenence Tuition Fee Other Fee **Total Fee Total Amount Student Name** Gender Course **Type** No. of Rate Month **Allowance** 1535294 RITESHWARI NO NAME Female B. A./Arts/III Renewal 7 300 2100 0 1515 1515 3615 7 1520032 DHALESHWARI NO NAME Female B. A./Arts/II Renewal 300 2100 0 1515 1515 3615 1504158 POONAM KATALAM Female B. A./Arts/II Renewal 7 300 2100 1515 1515 3615 1503992 MADHURI THAKUR Female B. Sc./Science/II Renewal 7 570 3990 0 1565 1565 5555 1496214 PAYAL THAKUR Female B. A./Arts/II Renewal 7 300 2100 0 1515 1515 3615 7 300 0 3615 1494833 TILAK DHRUV Male B. A./Arts/II Renewal 2100 1515 1515 1494636 POOJA THAKUR Female B. A./Arts/III 7 300 2100 0 1515 1515 3615 Renewal 1449003 SUDHA THAKUR 7 300 2100 0 1515 1515 3615 Female B. A./Arts/II Renewal

Renewal

Renewal

Renewal

7

7

7

300

300

570

Total:

2100

2100

3990

113460

0

0

0

0

1515

1515

1515

88990

1515

1515

1515

88990

3615

3615

5505

202450

## **Declaration:**

Place :

Date:

(Signature & Seal of Head of the Institution) Name (Capital Leters):

Female

Female

Female

B. A./Arts/II

B. A./Arts/III

B. A./Arts/III

## **Government of Chhattisgarh**



Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Govt Chandulal Chand. Arts Sci. Coll. Patan

Academic Year: 2018-19

State: Government of Chhattisgarh

Sanction Number: N/8/4760/3/10/86307

Sanction Date: 12/03/2019

Applications Type: Fresh

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
213242	PUSHPLATA NONAME	Female	M. A./Hindi/I	Fresh	8	100	800	0	5245	5245	6045
240877	NANDANI NONAME	Female	M. Sc./Botany/I	Fresh	9	100	900	0	6265	6265	7165
328405	DEEPIKA NONAME	Female	M. A./Sociology/I	Fresh	9	100	900	0	1745	1745	2645
362732	YAMINEE NO NAME	Female	PGDCA/Computer Application/I	Fresh	8	100	800	0	9390	9390	10190
373125	MEGHA VERMA	Female	M. Sc./Mathematics/I	Fresh	9	100	900	0	1745	1745	2645
393125	SHILPA VERMA	Female	M. Sc./Chemistry/I	Fresh	9	100	900	0	6265	6265	7165
453759	KIRAN NO NAME	Female	PGDCA/Computer Application/I	Fresh	8	100	800	0	9390	9390	10190
540796	RITIKA SAHU	Female	M. Sc./Chemistry/I	Fresh	7	100	700	0	6265	6265	6965
451437	RENUKA SAHU	Female	M. Sc./Zoology/II	Fresh	9	100	900	0	6265	6265	7165
477032	RUKMANEE XXXXX	Female	PGDCA/Computer Application/I	Fresh	8	100	800	0	9390	9390	10190
489160	DEVWRAT SAHU	Male	M. A./Hindi/I	Fresh	9	100	900	115	5245	5360	6260
532708	YOGITA NAYAK	Female	M. Sc./Zoology/I	Fresh	9	100	900	0	6265	6265	7165
549666	KIRTIKA SAHU	Female	M. Sc./Zoology/I	Fresh	9	100	900	0	6265	6265	7165
573734	PUJA VERMA	Female	M. A./Hindi/I	Fresh	9	100	900	0	5245	5245	6145
586516	HEMLATA NO	Female	M. Sc./Zoology/I	Fresh	9	100	900	0	6265	6265	7165
583758	HARENDRA KUMAR	Male	M. Sc./Mathematics/I	Fresh	9	100	900	115	1745	1860	2760

### **Declaration:**

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to ..... I do here by sanctioning a sum of Rs. .....Out of which Rs.....as maintenance allowance and Rs. ....as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.

Place: Date:

## **Government of Chhattisgarh**



Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Govt Chandulal Chand. Arts Sci. Coll. Patan

Academic Year: 2018-19

State: Government of Chhattisgarh

Sanction Date: 12/03/2019

Sanction Number: N/8/4760/3/10/86307

Applications Type: Fresh

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
586581	BHEEMSEN NO	Male	M. Sc./Zoology/I	Fresh	9	100	900	115	6265	6380	7280
592384	LAKKHI NISHAD	Female	PGDCA/Computer Application/I	Fresh	8	100	800	0	9390	9390	10190
596747	JYOTI NO NAME	Female	M. A./Pol. Science/I	Fresh	9	100	900	0	1745	1745	2645
610307	NEETA NAYAK NO NAME	Female	PGDCA/Computer Application/I	Fresh	9	100	900	0	9390	9390	10290
630102	VARSHA NO NAME	Female	M. Sc./Chemistry/I	Fresh	9	100	900	0	6265	6265	7165
630173	AAKASH VERMA	Male	M. Sc./Zoology/I	Fresh	9	100	900	115	6265	6380	7280
631625	DANIRAM CHAKRADHAR	Male	M. A./Sociology/I	Fresh	9	100	900	115	1745	1860	2760
655006	KIRAN NONAME	Female	M. A./Pol. Science/I	Fresh	9	100	900	0	1745	1745	2645
568295	BHAMINI NO	Female	M. Sc./Botany/I	Fresh	9	100	900	0	6265	6265	7165
601754	JYOTI NO NAME	Female	M. A./Pol. Science/I	Fresh	9	100	900	0	1745	1745	2645
615290	REENA NO NAME	Female	M. A./Economics/I	Fresh	9	100	900	0	5245	5245	6145
615621	MAHESHWARI NO NAME	Female	M. A./Economics/I	Fresh	8	100	800	0	5245	5245	6045
616279	DURGA NO	Female	M. Sc./Botany/I	Fresh	9	100	900	0	6265	6265	7165
621532	YOGITA NO NAME	Female	M. A./Pol. Science/I	Fresh	9	100	900	0	1745	1745	2645
621576	NEHA NO NAME	Female	M. A./Pol. Science/I	Fresh	9	100	900	0	1745	1745	2645
658937	ONKAR PRASAD NONAME	Male	M. Sc./Mathematics/I	Fresh	9	100	900	115	1745	1860	2760

## **Declaration:**

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to ..... I do here by sanctioning a sum of Rs. .....Out of which Rs.....as maintenance allowance and Rs. ....as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.

Place: Date:

## **Government of Chhattisgarh**



Scholarship Scheme: Post Matric OBC Scholarship State: Government of Chhattisgarh

Category: OBC Sanction Number: N/8/4760/3/10/86307

Institute Name: Govt Chandulal Chand. Arts Sci. Coll. Patan Sanction Date: 12/03/2019

Academic Year: 2018-19 Applications Type: Fresh

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
659030	HARENDRA NONAME	Male	M. Sc./Mathematics/I	Fresh	9	100	900	115	1745	1860	2760
659695	Tarini Sahu	Female	M. Sc./Botany/I	Fresh	8	100	800	0	6265	6265	7065
660811	AMIT KUMAR NONAME	Male	M. Sc./Mathematics/I	Fresh	9	100	900	115	1745	1860	2760
661373	SHLESHMA SAHU	Female	M. Sc./Mathematics/I	Fresh	9	100	900	0	1745	1745	2645
629721	MANISHA NO NAME	Female	M. Sc./Zoology/I	Fresh	9	100	900	0	6265	6265	7165
660965	REENA NO NAME	Female	M. Sc./Botany/I	Fresh	9	100	900	0	6265	6265	7165
661392	CHANCHAL SAHU	Female	M. Sc./Mathematics/I	Fresh	8	100	800	0	1745	1745	2545
675330	MEENA NO	Female	M. Sc./Mathematics/I	Fresh	9	100	900	0	1745	1745	2645
673596	MENKA NO NAME	Female	PGDCA/Computer Application/I	Fresh	8	100	800	0	9390	9390	10190
703076	JAYA NO NAME	Female	M. A./Sociology/I	Fresh	8	100	800	0	1745	1745	2545
703103	LEENA NO NAME	Female	M. A./Pol. Science/I	Fresh	9	100	900	0	1745	1745	2645
761915	TRIPTI YADAV	Female	M. Sc./Zoology/I	Fresh	9	100	900	0	6265	6265	7165
827600	DULESH KUMAR	Male	M. A./Pol. Science/I	Fresh	9	100	900	115	1745	1860	2760
780351	SADHANA NO NAME	Female	M. A./Pol. Science/I	Fresh	9	100	900	0	1745	1745	2645
1131448	KIRAN NO NAME	Female	M. A./Pol. Science/I	Fresh	9	100	900	0	1745	1745	2645
1144941	AARTI NO NAME	Female	M. A./Economics/I	Fresh	8	100	800	0	5245	5245	6045
1162110	Lokesh chandrakar chandrakar	Male	M. Sc./Chemistry/I	Fresh	9	100	900	115	6265	6380	7280

## **Declaration:**

Place :

Date:

## **Government of Chhattisgarh**



Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Govt Chandulal Chand. Arts Sci. Coll. Patan

Academic Year: 2018-19

State: Government of Chhattisgarh

Sanction Date: 12/03/2019

Sanction Number: N/8/4760/3/10/86307

Applications Type: Fresh

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1156303	LILESH KUMAR SHAHU	Male	M. Sc./Botany/I	Fresh	9	100	900	115	6265	6380	7280
660998	PRAGYESH KUMAR NONAME	Male	M. Sc./Mathematics/I	Fresh	9	100	900	115	1745	1860	2760
661706	CHANDRASHEKHAR NO NAME	Male	PGDCA/Computer Application/I	Fresh	8	100	800	115	9390	9505	10305
718965	VIJAY KUMAR NO NAME	Male	M. A./Economics/I	Fresh	9	100	900	115	5245	5360	6260
705103	REMAN KUMAR	Male	PGDCA/Computer Application/I	Fresh	8	100	800	115	9390	9505	10305
719182	YOGESH KUMAR SAHU	Male	M. Sc./Mathematics/I	Fresh	9	100	900	115	1745	1860	2760
1131663	TOMAN LAL	Male	PGDCA/Computer Application/I	Fresh	8	100	800	115	9390	9505	10305
1134765	GANENDRA KUMAR SAHU	Male	M. Sc./Botany/I	Fresh	9	100	900	115	6265	6380	7280
1140103	NILAM KUMHAR	Female	M. Sc./Botany/I	Fresh	9	100	900	0	6265	6265	7165
1156502	BHARTEE NO NAME	Female	M. A./Pol. Science/I	Fresh	9	100	900	0	1745	1745	2645
1156538	DEEKSHA SAHU	Female	M. Sc./Mathematics/I	Fresh	9	100	900	0	1745	1745	2645
1162553	NISHANT KUMAR	Male	M. Sc./Mathematics/I	Fresh	9	100	900	115	1745	1860	2760
1163429	Kaveri Deshmukh	Female	M. Sc./Chemistry/I	Fresh	9	100	900	0	6265	6265	7165
1164364	ARCHANA NA	Female	M. Sc./Botany/I	Fresh	9	100	900	0	6265	6265	7165
1172101	SURIYA VAISHNAW	Female	M. A./Hindi/I	Fresh	9	100	900	0	5245	5245	6145
1311536	ARUN NISHAD	Male	M. Sc./Mathematics/I	Fresh	8	100	800	115	1745	1860	2660

## **Declaration:**

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to ..... I do here by sanctioning a sum of Rs. .....Out of which Rs.....as maintenance allowance and Rs. ....as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.

Place:

Date:

## **Government of Chhattisgarh**



Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Govt Chandulal Chand. Arts Sci. Coll. Patan

Academic Year: 2018-19

State: Government of Chhattisgarh

Sanction Number: N/8/4760/3/10/86307

Sanction Date: 12/03/2019

Applications Type: Fresh

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1325515	URVASHI BANCHHOR	Female	M. A./Hindi/I	Fresh	8	100	800	0	5245	5245	6045
1331109	TIKESHWARI SINHA NO NAME	Female	M. Sc./Zoology/I	Fresh	9	100	900	0	6265	6265	7165
1340648	DULESH KUMAR	Male	PGDCA/Computer Application/I	Fresh	9	100	900	115	9390	9505	10405
1348653	SANJAY NISHAD	Male	PGDCA/Computer Application/I	Fresh	8	100	800	115	9390	9505	10305
1367511	SEEMA SAHU	Female	M. A./Sociology/I	Fresh	8	100	800	0	1745	1745	2545
764320	PRADEEP KUMAR NO NAME	Male	M. Sc./Chemistry/I	Fresh	9	100	900	115	6265	6380	7280
874748	YOGENDRA KUMAR NA	Male	M. A./Sociology/I	Fresh	8	100	800	115	1745	1860	2660
895700	KRITI SAHU	Female	M. Sc./Botany/I	Fresh	9	100	900	0	6265	6265	7165
970576	Kundan Kumar Sahu	Male	M. Sc./Botany/I	Fresh	9	100	900	115	6265	6380	7280
1115486	RAKESH KUMAR SINHA	Male	M. Sc./Mathematics/I	Fresh	9	100	900	115	1745	1860	2760
1121987	SUMAN SAHU	Female	PGDCA/Computer Application/I	Fresh	8	100	800	0	9390	9390	10190
1127701	DAMINEE SAHU	Female	M. Sc./Botany/I	Fresh	9	100	900	0	6265	6265	7165
1188937	LALITA NO NAME	Female	M. A./Economics/I	Fresh	8	100	800	0	5245	5245	6045
1368307	MOKSHDA ANGARE	Female	M. Sc./Zoology/I	Fresh	9	100	900	0	6265	6265	7165
1375249	SURESH KUMAR	Male	PGDCA/Computer Application/I	Fresh	8	100	800	115	9390	9505	10305

### **Declaration:**

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to ..... I do here by sanctioning a sum of Rs. .....Out of which Rs.....as maintenance allowance and Rs. ....as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.

Place: Date:

## **Government of Chhattisgarh**



Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Govt Chandulal Chand. Arts Sci. Coll. Patan

Academic Year: 2018-19

State: Government of Chhattisgarh

Sanction Number: N/8/4760/3/10/86307 Sanction Date: 12/03/2019

Applications Type: Fresh

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1378006	KIRAN SINHA	Female	M. A./Sociology/I	Fresh	9	100	900	0	1745	1745	2645
1391033	KIRAN VERMA	Female	M. A./Sociology/I	Fresh	9	100	900	0	1745	1745	2645
1393929	PUSHPENDRA NONAME	Male	PGDCA/Computer Application/I	Fresh	9	100	900	115	9390	9505	10405
1405654	VEDPRAKASH DEWANGAN	Male	M. A./Hindi/I	Fresh	9	100	900	115	5245	5360	6260
1407226	INDUMATEE NA	Female	M. A./Sociology/I	Fresh	8	100	800	0	1745	1745	2545
1423586	CHUMMAN SINHA	Female	M. Sc./Botany/I	Fresh	9	100	900	0	6265	6265	7165
1447370	NAVAL KISHOR SAHU	Male	M. Sc./Zoology/I	Fresh	9	100	900	115	6265	6380	7280
1476893	MANORAMA NISHAD	Female	B. A./Arts/II	Fresh	7	85	595	0	1515	1515	2110
1478258	MANISH KUMAR VERMA	Male	B. A./Arts/I	Fresh	9	70	630	115	1515	1630	2260
1481892	DIKESHWARI SINHA	Female	B. A./Arts/I	Fresh	9	85	765	0	1515	1515	2280
1482488	YASHWANT KUMAR	Male	B. A./Arts/III	Fresh	7	70	490	115	1515	1630	2120
1485725	PAYAL PATEL	Female	B. Sc./Science/I	Fresh	9	85	765	0	1565	1565	2330
1483763	BHAVNA VERMA	Female	B. A./Arts/I	Fresh	9	85	765	0	1515	1515	2280
1483655	LALITA SAHU	Female	B. A./Arts/I	Fresh	9	85	765	0	1515	1515	2280
1483469	TUKENDRA SINHA	Male	B. A./Arts/I	Fresh	9	70	630	115	1515	1630	2260
1483138	DAKESHWARI DHIMAR	Female	B. Com./Commerce/I	Fresh	9	85	765	0	1515	1515	2280
1483014	PUSHPA PAL	Female	B. Com./Commerce/I	Fresh	9	85	765	0	1515	1515	2280

## **Declaration:**

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to ..... I do here by sanctioning a sum of Rs. .....Out of which Rs.....as maintenance allowance and Rs. ....as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.

Place: Date:

Name (Capital Leters):

(Signature & Seal of Head of the Institution)

## **Government of Chhattisgarh**



Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Govt Chandulal Chand. Arts Sci. Coll. Patan

Academic Year: 2018-19

State: Government of Chhattisgarh

Sanction Date: 12/03/2019

Sanction Number: N/8/4760/3/10/86307

Applications Type: Fresh

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1482982	LOMESHWARI NONAME	Female	B. A./Arts/I	Fresh	10	85	850	0	1515	1515	2365
974130	VINITA YADAV	Female	M. A./Hindi/I	Fresh	8	100	800	0	5245	5245	6045
1095696	PREETAM SINGH	Male	M. Sc./Zoology/I	Fresh	9	100	900	115	6265	6380	7280
1121187	KESHAR SAHU	Female	M. A./Sociology/I	Fresh	9	100	900	0	1745	1745	2645
1190924	GODAWARI NO	Female	M. Sc./Zoology/I	Fresh	9	100	900	0	6265	6265	7165
1206113	VIJAYLAXMI SAHU	Female	M. Sc./Chemistry/I	Fresh	9	100	900	0	6265	6265	7165
1193646	GARIMA PATEL	Female	M. Sc./Zoology/I	Fresh	9	100	900	0	6265	6265	7165
1266933	BHUMIKA VERMA	Female	M. Sc./Chemistry/I	Fresh	9	100	900	0	6265	6265	7165
1276682	MOHAN YADAV	Male	M. A./Pol. Science/I	Fresh	9	100	900	115	1745	1860	2760
1481813	TAKESH KUMAR	Male	B. A./Arts/I	Fresh	9	70	630	115	1515	1630	2260
1482696	GOLENDRA KUMAR NISHAD	Male	B. A./Arts/I	Fresh	9	70	630	115	1515	1630	2260
1483031	PAYAL DEWANGAN	Female	B. Com./Commerce/I	Fresh	9	85	765	0	1515	1515	2280
1486114	TRIPTI VERMA	Female	B. Sc./Science/I	Fresh	9	85	765	0	1565	1565	2330
1486115	MONIKA SAHU	Female	B. A./Arts/I	Fresh	10	85	850	0	1515	1515	2365
1486434	TARA NISHAD	Female	B. A./Arts/I	Fresh	9	85	765	0	1515	1515	2280
1486758	DOMAN LAL	Male	B. A./Arts/I	Fresh	9	70	630	115	1515	1630	2260
1486764	KHEMIN NISHAD	Female	B. A./Arts/I	Fresh	9	85	765	0	1515	1515	2280
1486945	BHARTI MESHRAM	Female	B. A./Arts/I	Fresh	9	85	765	0	1515	1515	2280

### **Declaration:**

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to ..... I do here by sanctioning a sum of Rs. .....Out of which Rs.....as maintenance allowance and Rs. ....as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.

Place: Date:

## **Government of Chhattisgarh**



State: Government of Chhattisgarh

Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC Sanction Number: N/8/4760/3/10/86307

Institute Name: Govt Chandulal Chand. Arts Sci. Coll. Patan Sanction Date: 12/03/2019

Academic Year: 2018-19 Applications Type: Fresh

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1488807	CHANDRA KIRAN VERMA	Female	B. A./Arts/I	Fresh	9	85	765	0	1515	1515	2280
1488810	BHUPESH KUMAR	Male	B. A./Arts/I	Fresh	9	70	630	115	1515	1630	2260
1488880	MUKESHWARI SAHU	Female	B. A./Arts/I	Fresh	9	85	765	0	1515	1515	2280
1488883	MONIKA VERMA	Female	B. A./Arts/I	Fresh	9	85	765	0	1515	1515	2280
1489060	YAMINI NONAME	Female	B. A./Arts/I	Fresh	9	85	765	0	1515	1515	2280
1489202	AKASH VERMA	Male	B. A./Arts/I	Fresh	9	70	630	115	1515	1630	2260
1225560	NAVIN KUMAR	Male	M. A./Sociology/I	Fresh	9	100	900	115	1745	1860	2760
1325927	ROSHANI NAYAK	Female	M. A./Pol. Science/I	Fresh	9	100	900	0	1745	1745	2645
1338353	SANJANA GOSWAMI	Female	PGDCA/Computer Application/I	Fresh	8	100	800	0	9390	9390	10190
1341145	CHANDRAPRABHA SAHU	Female	M. Sc./Chemistry/I	Fresh	9	100	900	0	6265	6265	7165
1349782	GARIMA NONAME	Female	M. A./Sociology/I	Fresh	8	100	800	0	1745	1745	2545
1371193	PREM LATA	Female	M. A./Sociology/I	Fresh	9	100	900	0	1745	1745	2645
1378524	TUNESHWARI NISHAD	Female	M. A./Sociology/I	Fresh	9	100	900	0	1745	1745	2645
1407969	RUKHMANI YADAV	Female	M. Sc./Zoology/I	Fresh	9	100	900	0	6265	6265	7165
1409463	YOGITA VERMA	Female	M. Sc./Mathematics/I	Fresh	9	100	900	0	1745	1745	2645
1412065	NIDHI VERMA	Female	M. A./Economics/I	Fresh	9	100	900	0	5245	5245	6145
1413266	DEVI VAISHNAV	Female	M. Sc./Mathematics/I	Fresh	9	100	900	0	1745	1745	2645

## **Declaration:**

Place : Date :

## **Government of Chhattisgarh**



Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Govt Chandulal Chand. Arts Sci. Coll. Patan

Academic Year: 2018-19

State: Government of Chhattisgarh

otato: ooroniinonto: omiatilogal

Sanction Number: N/8/4760/3/10/86307 Sanction Date: 12/03/2019

Applications Type: Fresh

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1422765	GAJENDRA KUMAR	Male	M. Sc./Chemistry/I	Fresh	9	100	900	115	6265	6380	7280
1454368	VEENA TARAK	Female	PGDCA/Computer Application/I	Fresh	8	100	800	0	9390	9390	10190
1481194	RAMPRATAP SINHA	Male	B. A./Arts/I	Fresh	9	70	630	115	1515	1630	2260
1486243	SHARDA VERMA	Female	B. A./Arts/I	Fresh	10	85	850	0	1515	1515	2365
1486992	YAMINI SAHU	Female	B. A./Arts/I	Fresh	9	85	765	0	1515	1515	2280
1487007	HEMA SAHU	Female	B. A./Arts/I	Fresh	9	85	765	0	1515	1515	2280
1487035	AARTI VERMA	Female	B. A./Arts/I	Fresh	9	85	765	0	1515	1515	2280
1487144	TARNI SAHU	Female	B. A./Arts/I	Fresh	8	85	680	0	1515	1515	2195
1487877	ANKIT KUMAR VERMA	Male	PGDCA/Computer Application/I	Fresh	9	100	900	115	9390	9505	10405
1488165	RINKI SARVE	Female	B. Sc./Science/I	Fresh	9	85	765	0	1565	1565	2330
1488211	anil Kumar Nishad	Male	B. A./Arts/I	Fresh	9	70	630	115	1515	1630	2260
1488258	BHUPESH KUMAR NISHAD	Male	B. A./Arts/I	Fresh	9	70	630	115	1515	1630	2260
1489278	SONAM PATEL	Female	B. A./Arts/I	Fresh	9	85	765	0	1515	1515	2280
1489303	DINESHWARI SAHU	Female	B. A./Arts/I	Fresh	9	85	765	0	1515	1515	2280
1489778	TARUN SINHA	Male	B. A./Arts/I	Fresh	9	70	630	115	1515	1630	2260
1490046	KUMLESH KUMAR	Male	B. A./Arts/I	Fresh	9	70	630	115	1515	1630	2260

## **Declaration:**

Place : Date :

## **Government of Chhattisgarh**



Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Govt Chandulal Chand. Arts Sci. Coll. Patan

Academic Year: 2018-19

State: Government of Chhattisgarh

Sanction Date: 12/03/2019

Sanction Number: N/8/4760/3/10/86307

Applications Type: Fresh

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1490897	SHRADDHA VERMA	Female	B. A./Arts/I	Fresh	9	85	765	0	1515	1515	2280
1493176	PRIYA VAISHNAV	Female	B. A./Arts/I	Fresh	9	85	765	0	1515	1515	2280
1493359	BHARTI SAHU	Female	B. A./Arts/I	Fresh	9	85	765	0	1515	1515	2280
1500312	SUSHMA SAHU	Female	B. A./Arts/I	Fresh	9	85	765	0	1515	1515	2280
1500313	PANKAJ NISHAD	Male	B. A./Arts/I	Fresh	10	70	700	115	1515	1630	2330
1501577	JYOTI VERMA	Female	B. A./Arts/I	Fresh	9	85	765	0	1515	1515	2280
1501828	LUKESHWARI SINHA	Female	B. A./Arts/I	Fresh	9	85	765	0	1515	1515	2280
1488707	RADHA SAHU	Female	B. A./Arts/I	Fresh	9	85	765	0	1515	1515	2280
1489017	MUKUND KUMAR	Male	B. A./Arts/I	Fresh	9	70	630	115	1515	1630	2260
1489086	JHARNA PENDRIYA	Female	B. A./Arts/I	Fresh	9	85	765	0	1515	1515	2280
1489490	DILIP KUMAR NISHAD	Male	B. Sc./Science/I	Fresh	9	70	630	115	1565	1680	2310
1490890	GANGA SAHU	Female	B. Sc./Science/I	Fresh	9	85	765	0	1565	1565	2330
1493226	SAKSHI NONAME	Female	B. A./Arts/I	Fresh	10	85	850	0	1515	1515	2365
1493633	MANISHA DHIVAR	Female	B. A./Arts/I	Fresh	9	85	765	0	1515	1515	2280
1493648	LILEEMA PATEL	Female	B. Sc./Science/I	Fresh	9	85	765	0	1565	1565	2330
1495542	GITANJALI PATEL	Female	B. A./Arts/I	Fresh	9	85	765	0	1515	1515	2280
1495846	RISHABH SINHA	Male	B. A./Arts/I	Fresh	9	70	630	115	1515	1630	2260
1496979	UMESH VERMA	Male	B. Sc./Science/I	Fresh	9	70	630	115	1565	1680	2310

#### **Declaration:**

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to ..... I do here by sanctioning a sum of Rs. .....Out of which Rs.....as maintenance allowance and Rs. ....as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.

Place: Date:

## **Government of Chhattisgarh**



State: Government of Chhattisgarh

Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC Sanction Number: N/8/4760/3/10/86307

Institute Name: Govt Chandulal Chand. Arts Sci. Coll. Patan

Sanction Date: 12/03/2019

Academic Year: 2018-19 Applications Type: Fresh

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1497326	KHUSHBULATA RAWAT	Female	B. Sc./Science/I	Fresh	9	85	765	0	1565	1565	2330
1495373	TIKESHWARI SAHU	Female	B. A./Arts/I	Fresh	9	85	765	0	1515	1515	2280
1495605	SUMAN NONAME	Female	B. A./Arts/I	Fresh	9	85	765	0	1515	1515	2280
1496688	ABHISHEK VERMA	Male	B. Com./Commerce/I	Fresh	9	70	630	115	1515	1630	2260
1498593	MOTIM NISHAD	Female	B. Com./Commerce/I	Fresh	9	85	765	0	1515	1515	2280
1498821	TRIVENI NO NAME	Female	B. A./Arts/I	Fresh	9	85	765	0	1515	1515	2280
1498709	SEETA NISHAD	Female	B. A./Arts/I	Fresh	9	85	765	0	1515	1515	2280
1507260	PEMESH KUMAR	Male	B. A./Arts/I	Fresh	9	70	630	115	1515	1630	2260
1507326	PRATIBHA SAHU	Female	B. Sc./Science/I	Fresh	9	85	765	0	1565	1565	2330
1508351	TEJESHWARI NIRMALKAR	Female	B. A./Arts/I	Fresh	10	85	850	0	1515	1515	2365
1514002	AKASH KUMAR	Male	B. A./Arts/I	Fresh	9	70	630	115	1515	1630	2260
1516518	ISHWAR KUMAR	Male	B. A./Arts/I	Fresh	9	70	630	115	1515	1630	2260
1516853	BHANU PRATAP	Male	B. A./Arts/I	Fresh	9	70	630	115	1515	1630	2260
1517762	KESHARI YADAV	Female	B. Com./Commerce/I	Fresh	9	85	765	0	1515	1515	2280
1518127	PRIYANKA VERMA	Female	B. A./Arts/I	Fresh	9	85	765	0	1515	1515	2280
1518435	VASUDEV VERMA	Male	B. Com./Commerce/I	Fresh	9	70	630	115	1515	1630	2260
1518539	LAXMAN KUMAR	Male	B. A./Arts/I	Fresh	9	70	630	115	1515	1630	2260
1518625	ANSHUL MADHARIYA	Male	B. Com./Commerce/I	Fresh	9	70	630	115	1515	1630	2260

### **Declaration:**

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to ...... I do here by sanctioning a sum of Rs. .................Out of which Rs...............as maintenance allowance and Rs. .................as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.

Place : Date :

## **Government of Chhattisgarh**



Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Govt Chandulal Chand. Arts Sci. Coll. Patan

Academic Year: 2018-19

State: Government of Chhattisgarh

Sanction Number: N/8/4760/3/10/86307 Sanction Date: 12/03/2019

Applications Type: Fresh

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1519038	POOJA SAHU	Female	B. A./Arts/I	Fresh	9	85	765	0	1515	1515	2280
1513129	RITU SINHA	Female	B. Sc./Science/I	Fresh	9	85	765	0	1565	1565	2330
1515843	VINOD KUMAR	Male	B. Com./Commerce/I	Fresh	9	70	630	115	1515	1630	2260
1516649	TARUN KUMAR	Male	B. A./Arts/I	Fresh	9	70	630	115	1515	1630	2260
1518024	BHUPENDRA KUMAR SAHU	Male	B. A./Arts/I	Fresh	9	70	630	115	1515	1630	2260
1518375	SHEKHAR YADAV	Male	B. Com./Commerce/I	Fresh	9	70	630	115	1515	1630	2260
1520087	VINITA SAHU	Female	B. A./Arts/I	Fresh	9	85	765	0	1515	1515	2280
1519397	DILESHWARI SAHU	Female	B. A./Arts/I	Fresh	9	85	765	0	1515	1515	2280
1520131	YOGESH KUMAR	Male	B. A./Arts/I	Fresh	9	70	630	115	1515	1630	2260
1524335	RITUMBHARA NO NAME	Female	B. A./Arts/I	Fresh	9	85	765	0	1515	1515	2280
1524770	KHILENDRA KUMAR	Male	B. A./Arts/I	Fresh	9	70	630	115	1515	1630	2260
1524866	DWARIKA PURI	Male	B. A./Arts/I	Fresh	9	70	630	115	1515	1630	2260
1525277	BHUPESH KUMAR VERMA	Male	B. A./Arts/I	Fresh	10	70	700	115	1515	1630	2330
1525629	NITEESH KUMAR	Male	B. A./Arts/I	Fresh	10	70	700	115	1515	1630	2330
1526186	SUDHA VERMA	Female	B. A./Arts/I	Fresh	10	85	850	0	1515	1515	2365
1526635	KAVERI NONAME	Female	B. A./Arts/I	Fresh	9	85	765	0	1515	1515	2280
1529029	PADMANI NISHAD	Female	B. Sc./Science/I	Fresh	9	85	765	0	1565	1565	2330
1529341	MUKESH KUMAR SAHU	Male	B. A./Arts/I	Fresh	9	70	630	115	1515	1630	2260

### **Declaration:**

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to ..... I do here by sanctioning a sum of Rs. .....Out of which Rs.....as maintenance allowance and Rs. ....as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.

Place: Date:

## **Government of Chhattisgarh**



Scholarship Scheme: Post Matric OBC Scholarship State: Government of Chhattisgarh

Category: OBC Sanction Number: N/8/4760/3/10/86307

Institute Name: Govt Chandulal Chand. Arts Sci. Coll. Patan Sanction Date: 12/03/2019

Academic Year: 2018-19 Applications Type: Fresh

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1529751	ROHAN SAHU	Male	B. Sc./Science/I	Fresh	9	70	630	115	1565	1680	2310
1529968	TRIVENI SAHU	Female	M. A./Economics/I	Fresh	9	100	900	0	5245	5245	6145
1530509	NUTAN SAHU	Female	M. Sc./Zoology/I	Fresh	9	100	900	0	6265	6265	7165
1534826	KAILASH VERMA	Male	B. A./Arts/I	Fresh	9	70	630	115	1515	1630	2260
1535598	SHUBHAM NAYAK	Male	B. A./Arts/I	Fresh	9	70	630	115	1515	1630	2260
1536162	PIYUSHA KOSHE	Female	B. Sc./Science/I	Fresh	9	85	765	0	1565	1565	2330
1535498	JYOTI NISHAD	Female	B. A./Arts/I	Fresh	9	85	765	0	1515	1515	2280
1489236	KHUSHBU NONAME	Female	B. A./Arts/I	Fresh	9	85	765	0	1515	1515	2280
1493009	RAHUL VERMA	Male	B. A./Arts/I	Fresh	9	70	630	115	1515	1630	2260
1498560	NOMIN NO NAME	Female	B. A./Arts/I	Fresh	9	85	765	0	1515	1515	2280
1497683	VARSHA VERMA	Female	B. Sc./Science/I	Fresh	9	85	765	0	1565	1565	2330
1499657	TAKESHWAR NONAME	Male	B. Sc./Science/I	Fresh	9	70	630	115	1565	1680	2310
1501011	BHUNESHWARI NONAME	Female	B. A./Arts/I	Fresh	9	85	765	0	1515	1515	2280
1508586	DILESHWAREE SINHA	Female	B. A./Arts/I	Fresh	10	85	850	0	1515	1515	2365
1512772	BHAVESH KUMAR PATEL	Male	B. Sc./Science/I	Fresh	8	70	560	115	1565	1680	2240
1516388	CHITRANI DEWANGAN	Female	B. Sc./Science/I	Fresh	10	85	850	0	1565	1565	2415
1519089	PREMPRAKASH NONAME	Male	B. Sc./Science/I	Fresh	9	70	630	115	1565	1680	2310
1520494	LAXMI YADAV	Female	B. A./Arts/I	Fresh	9	85	765	0	1515	1515	2280

### **Declaration:**

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to ...... I do here by sanctioning a sum of Rs. .................Out of which Rs...............as maintenance allowance and Rs. .................as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.

Place :

Date:

## **Government of Chhattisgarh**



Scholarship Scheme: Post Matric OBC Scholarship State: Government of Chhattisgarh

Category: OBC Sanction Number: N/8/4760/3/10/86307

Institute Name: Govt Chandulal Chand. Arts Sci. Coll. Patan Sanction Date: 12/03/2019

Academic Year: 2018-19 Applications Type: Fresh

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1520522	LOKESHWARI NO NAME	Female	B. A./Arts/I	Fresh	9	85	765	0	1515	1515	2280
1524315	NISHA NO NAME	Female	B. A./Arts/I	Fresh	9	85	765	0	1515	1515	2280
1527765	SHIVANAND SINHA	Male	B. A./Arts/I	Fresh	9	70	630	115	1515	1630	2260
1528180	KAVITA BHARDWAJ	Female	B. A./Arts/I	Fresh	9	85	765	0	1515	1515	2280
1528290	BHAGWATI YADAV	Female	B. Sc./Science/I	Fresh	9	85	765	0	1565	1565	2330
1528549	HOMIN SAHU	Female	B. Com./Commerce/I	Fresh	9	85	765	0	1515	1515	2280
1528727	AAYUSH TIKARIHA	Male	B. A./Arts/I	Fresh	10	70	700	115	1515	1630	2330
1528557	DANESHWAR NONAME	Male	B. A./Arts/I	Fresh	9	70	630	115	1515	1630	2260
1528745	LEENA NIRMALKAR	Female	B. Sc./Science/I	Fresh	9	85	765	0	1565	1565	2330
1528443	NEELIMA DHURANDHAR	Female	B. Sc./Science/I	Fresh	9	85	765	0	1565	1565	2330
1543836	ROSHAN KUMAR	Male	PGDCA/Computer Application/I	Fresh	8	100	800	115	9390	9505	10305
1544406	DHANANJAY NISHAD	Male	B. A./Arts/I	Fresh	9	70	630	115	1515	1630	2260
1544414	RENUKA SINHA	Female	B. A./Arts/I	Fresh	9	85	765	0	1515	1515	2280
1544610	MAMTA NISHAD	Female	B. A./Arts/I	Fresh	9	85	765	0	1515	1515	2280
1545592	AARTI SAHU	Female	B. A./Arts/I	Fresh	9	85	765	0	1515	1515	2280
1546096	JAYA CHAKRADHAR	Female	B. Sc./Science/I	Fresh	9	85	765	0	1565	1565	2330

### **Declaration:**

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to ...... I do here by sanctioning a sum of Rs. .................Out of which Rs...............as maintenance allowance and Rs. .................as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.

Place :

Date:

## **Government of Chhattisgarh**



Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Govt Chandulal Chand. Arts Sci. Coll. Patan

Academic Year: 2018-19

State: Government of Chhattisgarh

Sanction Date: 12/03/2019

Sanction Number: N/8/4760/3/10/86307

Applications Type: Fresh

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1547222	TRIVENI VERMA	Female	PGDCA/Computer Application/I	Fresh	8	100	800	0	9390	9390	10190
1547243	JHALENDRA KUMAR	Male	B. A./Arts/I	Fresh	10	70	700	115	1515	1630	2330
1548696	AARTI VERMA	Female	B. Sc./Science/I	Fresh	9	85	765	0	1565	1565	2330
1548920	TEMIN SAHU	Female	PGDCA/Computer Application/I	Fresh	9	100	900	0	9390	9390	10290
1554226	RITU NONAME	Female	B. A./Arts/I	Fresh	9	85	765	0	1515	1515	2280
1527696	AASHISH KUMAR SINHA	Male	B. Sc./Science/I	Fresh	9	70	630	115	1565	1680	2310
1536401	ANJALI NONAME	Female	B. A./Arts/I	Fresh	9	85	765	0	1515	1515	2280
1554913	ANUSHA YADAV	Female	B. Com./Commerce/I	Fresh	9	85	765	0	1515	1515	2280
1563573	ANIL KUMAR NISHAD	Male	B. A./Arts/I	Fresh	9	70	630	115	1515	1630	2260
1565848	ASHWALEKHA NIRMALKAR	Female	B. A./Arts/I	Fresh	9	85	765	0	1515	1515	2280
1566096	ABHISHEK KUMAR	Male	B. A./Arts/I	Fresh	9	70	630	115	1515	1630	2260
1566367	AAKASH SAHU	Male	B. Sc./Science/I	Fresh	9	70	630	115	1565	1680	2310
1574802	ASHISH KUMAR	Male	B. A./Arts/I	Fresh	9	70	630	115	1515	1630	2260
1575190	AARTI YADAV	Female	B. Com./Commerce/I	Fresh	8	85	680	0	1515	1515	2195
1577313	ARCHANA SAHU	Female	B. A./Arts/I	Fresh	9	85	765	0	1515	1515	2280
1583963	ANJALI NO NAME	Female	B. Sc./Science/I	Fresh	9	85	765	0	1565	1565	2330

### **Declaration:**

Place : Date :

## **Government of Chhattisgarh**



Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Govt Chandulal Chand. Arts Sci. Coll. Patan

Academic Year: 2018-19

State: Government of Chhattisgarh

Sanction Date: 12/03/2019

Sanction Number: N/8/4760/3/10/86307

Applications Type: Fresh

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1594332	AVINASH NISHAD	Male	B. Com./Commerce/I	Fresh	9	70	630	115	1515	1630	2260
1501160	BHUPENDRA NONAME	Male	B. Sc./Science/I	Fresh	9	70	630	115	1565	1680	2310
1555772	BHARTI KUMBHAKAR	Female	B. A./Arts/I	Fresh	9	85	765	0	1515	1515	2280
1556841	BHARTI NISHAD	Female	B. A./Arts/I	Fresh	9	85	765	0	1515	1515	2280
1585677	BHUSHAN KUMAR SINHA	Male	B. A./Arts/I	Fresh	9	70	630	115	1515	1630	2260
1593199	BHUMIKA DEWANGAN	Female	B. A./Arts/I	Fresh	9	85	765	0	1515	1515	2280
1593743	BHOLESHWARI NO NAME	Female	B. Com./Commerce/I	Fresh	9	85	765	0	1515	1515	2280
1595838	BHUNESHWARI SAHU	Female	B. Com./Commerce/I	Fresh	9	85	765	0	1515	1515	2280
1500628	CHITRALEKHA NONAME	Female	B. A./Arts/I	Fresh	9	85	765	0	1515	1515	2280
1538205	CHUNESHWARI YADAW	Female	B. A./Arts/I	Fresh	9	85	765	0	1515	1515	2280
1502460	DIKESHWARI SINHA	Female	B. A./Arts/I	Fresh	10	85	850	0	1515	1515	2365
1503950	DINESH KUMAR DEWANGAN	Male	PGDCA/Computer Application/I	Fresh	9	100	900	115	9390	9505	10405
1520359	DANESHWAR NONAME	Male	B. A./Arts/I	Fresh	9	70	630	115	1515	1630	2260
1535168	DOMESHWAR SINHA	Male	B. Com./Commerce/I	Fresh	9	70	630	115	1515	1630	2260
1552099	DEEPAK KUMAR	Male	B. Com./Commerce/I	Fresh	9	70	630	115	1515	1630	2260
1555862	DEVESHWARI YADU	Female	PGDCA/Computer Application/I	Fresh	8	100	800	0	9390	9390	10190

### **Declaration:**

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to ..... I do here by sanctioning a sum of Rs. .....Out of which Rs.....as maintenance allowance and Rs. ....as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.

Place: Date:

## **Government of Chhattisgarh**



Scholarship Scheme: Post Matric OBC Scholarship State: Government of Chhattisgarh

Category: OBC Sanction Number: N/8/4760/3/10/86307

Institute Name: Govt Chandulal Chand. Arts Sci. Coll. Patan Sanction Date: 12/03/2019

Academic Year: 2018-19 Applications Type: Fresh

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1559019	DAMINI YADAV	Female	B. A./Arts/I	Fresh	9	85	765	0	1515	1515	2280
1563459	DEEPAK KUMAR SAHU	Male	B. A./Arts/I	Fresh	9	70	630	115	1515	1630	2260
1569506	DEVANAND SAHU	Male	B. Com./Commerce/I	Fresh	9	70	630	115	1515	1630	2260
1585598	DOGENDRA KUMAR	Male	B. A./Arts/I	Fresh	9	70	630	115	1515	1630	2260
1590723	DEEPAK NISHAD	Male	B. A./Arts/I	Fresh	9	70	630	115	1515	1630	2260
1607034	DIVYA NO	Female	M. A./Pol. Science/I	Fresh	9	100	900	0	1745	1745	2645
1504444	GAYATRI YADAV	Female	B. A./Arts/I	Fresh	9	85	765	0	1515	1515	2280
1525528	GOYAL KUMAR DHANKAR	Male	B. A./Arts/I	Fresh	9	70	630	115	1515	1630	2260
1556970	GODAWARI PATEL	Female	B. A./Arts/I	Fresh	9	85	765	0	1515	1515	2280
1595142	GAJENDRA KUMAR VERMA	Male	B. A./Arts/I	Fresh	10	70	700	115	1515	1630	2330
1597187	GULSHAN SAHU	Female	B. A./Arts/I	Fresh	9	85	765	0	1515	1515	2280
1602137	GEETESH KUMAR	Male	B. Sc./Science/I	Fresh	9	70	630	115	1565	1680	2310
1604703	GAURAV SAHU	Male	B. A./Arts/I	Fresh	9	70	630	115	1515	1630	2260
1502866	HITESH KUMAR SAHU	Male	B. A./Arts/I	Fresh	9	70	630	115	1515	1630	2260
1530834	HEENA SAHU	Female	B. Sc./Science/I	Fresh	9	85	765	0	1565	1565	2330
1535480	HEMA NISHAD	Female	B. Sc./Science/I	Fresh	9	85	765	0	1565	1565	2330
1559089	HOMLAL NISHAD	Male	B. Com./Commerce/I	Fresh	9	70	630	115	1515	1630	2260
1573986	HARSHLATA SAHU	Female	M. Sc./Chemistry/I	Fresh	9	100	900	0	6265	6265	7165

### **Declaration:**

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to ...... I do here by sanctioning a sum of Rs. .................Out of which Rs...............as maintenance allowance and Rs. .................as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.

Place :

Date:

## **Government of Chhattisgarh**



Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Govt Chandulal Chand. Arts Sci. Coll. Patan

Academic Year: 2018-19

State: Government of Chhattisgarh

Sanction Number: N/8/4760/3/10/86307

Sanction Date: 12/03/2019

Applications Type: Fresh

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1585686	HARISH KUMAR	Male	B. A./Arts/I	Fresh	9	70	630	115	1515	1630	2260
1594791	HARISH KUMAR	Male	B. A./Arts/I	Fresh	9	70	630	115	1515	1630	2260
1573023	INDRA KUMAR	Male	B. A./Arts/I	Fresh	9	70	630	115	1515	1630	2260
1576303	ISHWARI KUMBHKAR	Female	B. A./Arts/I	Fresh	9	85	765	0	1515	1515	2280
1506411	JAWAHAR SINGH SAHU	Male	B. Com./Commerce/I	Fresh	9	70	630	115	1515	1630	2260
1559617	JYOTIMALA VERMA	Female	M. Sc./Botany/I	Fresh	9	100	900	0	6265	6265	7165
1588567	JAGESHWER KUMAR	Male	B. A./Arts/I	Fresh	9	70	630	115	1515	1630	2260
1526662	KUSUM NO NAME	Female	B. A./Arts/I	Fresh	9	85	765	0	1515	1515	2280
1529466	KUNIKA SAHU	Female	B. Sc./Science/I	Fresh	9	85	765	0	1565	1565	2330
1536144	KIRAN KOSE	Female	B. A./Arts/I	Fresh	9	85	765	0	1515	1515	2280
1548433	KAMESHWAR NONAME	Male	B. A./Arts/I	Fresh	9	70	630	115	1515	1630	2260
1549931	KOMAL SONI	Male	B. A./Arts/I	Fresh	9	70	630	115	1515	1630	2260
1555165	KHUSHBOO VERMA	Female	B. Com./Commerce/I	Fresh	9	85	765	0	1515	1515	2280
1555523	KHUSHBOO NO NAME	Female	B. A./Arts/I	Fresh	9	85	765	0	1515	1515	2280
1558284	KIRAN SAHU	Female	M. A./Sociology/I	Fresh	9	100	900	0	1745	1745	2645
1568267	KSHAMA NO NAME	Female	M. Sc./Botany/I	Fresh	9	100	900	0	6265	6265	7165
1587255	KHUSHBOO NO NAME	Female	B. A./Arts/I	Fresh	9	85	765	0	1515	1515	2280
1587681	KESHAV NISHAD	Male	B. A./Arts/I	Fresh	10	70	700	115	1515	1630	2330

## **Declaration:**

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to ..... I do here by sanctioning a sum of Rs. .....Out of which Rs.....as maintenance allowance and Rs. ....as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.

Place: Date:

## **Government of Chhattisgarh**



Scholarship Scheme: Post Matric OBC Scholarship State: Government of Chhattisgarh

Category: OBC Sanction Number: N/8/4760/3/10/86307

Institute Name : Govt Chandulal Chand. Arts Sci. Coll. Patan Sanction Date : 12/03/2019

Academic Year: 2018-19 Applications Type: Fresh

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1602990	KHILESHWAR NISHAD	Male	M. Sc./Chemistry/I	Fresh	8	100	800	115	6265	6380	7180
1501264	LEENA SAHU	Female	B. A./Arts/I	Fresh	9	85	765	0	1515	1515	2280
1508538	LALIT KUMAR	Male	B. A./Arts/I	Fresh	9	70	630	115	1515	1630	2260
1586583	LALITA NONAME	Female	B. A./Arts/I	Fresh	9	85	765	0	1515	1515	2280
1593682	LAXMIKANT NO NAME	Male	B. A./Arts/I	Fresh	9	70	630	115	1515	1630	2260
1501897	MOHNISH YADAV	Male	B. Sc./Science/I	Fresh	9	70	630	115	1565	1680	2310
1502013	MANISHA SAHU	Female	B. A./Arts/I	Fresh	8	85	680	0	1515	1515	2195
1502281	MENKA VERMA	Female	B. Sc./Science/I	Fresh	9	85	765	0	1565	1565	2330
1521001	MOTIM NIRMALKAR	Female	B. A./Arts/I	Fresh	9	85	765	0	1515	1515	2280
1536229	MAMTA NO NAME	Female	B. Sc./Science/I	Fresh	9	85	765	0	1565	1565	2330
1537632	MANISH KUMAR SAHU	Male	B. A./Arts/I	Fresh	9	70	630	115	1515	1630	2260
1558727	MADHU VERMA	Female	M. Sc./Botany/I	Fresh	9	100	900	0	6265	6265	7165
1558933	MANISH KUMAR	Male	B. A./Arts/I	Fresh	9	70	630	115	1515	1630	2260
1577912	MUKESH KUMAR	Male	B. A./Arts/I	Fresh	9	70	630	115	1515	1630	2260
1578353	MOHIT KUMAR	Male	B. Com./Commerce/I	Fresh	9	70	630	115	1515	1630	2260
1583973	MANISHA NO NAME	Female	B. Com./Commerce/I	Fresh	9	85	765	0	1515	1515	2280
1601527	MANOJ KUMAR SINHA	Male	B. A./Arts/I	Fresh	9	70	630	115	1515	1630	2260
1601535	MANISH KUMAR SINHA	Male	B. A./Arts/I	Fresh	10	70	700	115	1515	1630	2330

### **Declaration:**

Place : Date :

## **Government of Chhattisgarh**



Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Govt Chandulal Chand. Arts Sci. Coll. Patan

Academic Year: 2018-19

State: Government of Chhattisgarh

Sanction Date: 12/03/2019

Sanction Number: N/8/4760/3/10/86307

Applications Type: Fresh

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1525878	NEHA VERMA	Female	B. A./Arts/I	Fresh	10	85	850	0	1515	1515	2365
1526713	NEELIMA PATEL	Female	B. Sc./Science/I	Fresh	9	85	765	0	1565	1565	2330
1555495	NAINA SAHU	Female	B. A./Arts/I	Fresh	9	85	765	0	1515	1515	2280
1574956	NIRAJ KUMAR KUMAR	Male	B. Sc./Science/I	Fresh	8	70	560	115	1565	1680	2240
1587011	NIKITA DEWANGAN	Female	B. Sc./Science/I	Fresh	9	85	765	0	1565	1565	2330
1587316	NEHA SAHU	Female	B. Sc./Science/I	Fresh	9	85	765	0	1565	1565	2330
1500683	PRIYANKA SAHU	Female	B. A./Arts/I	Fresh	9	85	765	0	1515	1515	2280
1501378	PURNENDRA KUMAR VERMA	Male	B. A./Arts/I	Fresh	9	70	630	115	1515	1630	2260
1516783	PAYAL VERMA	Female	B. Com./Commerce/I	Fresh	8	85	680	0	1515	1515	2195
1527955	PRERNA VERMA	Female	B. Sc./Science/I	Fresh	9	85	765	0	1565	1565	2330
1539126	PURNIMA NO NAME	Female	PGDCA/Computer Application/I	Fresh	8	100	800	0	9390	9390	10190
1543589	PUNARAD NO NAME	Male	B. Com./Commerce/I	Fresh	9	70	630	115	1515	1630	2260
1546501	PADMA PATEL	Female	PGDCA/Computer Application/I	Fresh	8	100	800	0	9390	9390	10190
1547637	PAYAL YADU	Female	PGDCA/Computer Application/I	Fresh	9	100	900	0	9390	9390	10290
1561617	PANKAJ KUMAR DEWANGAN	Male	B. Sc./Science/I	Fresh	9	70	630	115	1565	1680	2310
1567685	PURNIMA SAHU	Female	M. Sc./Zoology/I	Fresh	9	100	900	0	6265	6265	7165

## **Declaration:**

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to ..... I do here by sanctioning a sum of Rs. .....Out of which Rs.....as maintenance allowance and Rs. ....as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.

Place: Date:

### **Government of Chhattisgarh**



Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Govt Chandulal Chand. Arts Sci. Coll. Patan

Academic Year: 2018-19

State: Government of Chhattisgarh

Sanction Date: 12/03/2019

Sanction Number: N/8/4760/3/10/86307

Applications Type: Fresh

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1576235	POOJA KHUBHKAR	Female	B. A./Arts/I	Fresh	9	85	765	0	1515	1515	2280
1585944	PARMESHWAR NISHAD	Male	B. Com./Commerce/I	Fresh	9	70	630	115	1515	1630	2260
1595686	PAYAL KAUSHIK	Female	B. A./Arts/I	Fresh	10	85	850	0	1515	1515	2365
1527196	RAGANI NO NAME	Female	B. A./Arts/I	Fresh	9	85	765	0	1515	1515	2280
1534624	RAKESH KUMAR SAHU	Male	B. A./Arts/I	Fresh	9	70	630	115	1515	1630	2260
1536581	RADHIKA CHANDRAKAR	Female	B. A./Arts/I	Fresh	9	85	765	0	1515	1515	2280
1540926	REENA SAHU	Female	B. Sc./Science/I	Fresh	8	85	680	0	1565	1565	2245
1547067	RASHMI NONAME	Female	PGDCA/Computer Application/I	Fresh	8	100	800	0	9390	9390	10190
1557655	RADHIKA NONAME	Female	B. Sc./Science/I	Fresh	9	85	765	0	1565	1565	2330
1563223	RUP RAM NISHAD	Male	B. A./Arts/I	Fresh	10	70	700	115	1515	1630	2330
1572518	RITIKA DEWANGAN	Female	B. Sc./Science/I	Fresh	9	85	765	0	1565	1565	2330
1572678	RADHESHYAM SAHU	Male	B. A./Arts/I	Fresh	9	70	630	115	1515	1630	2260
1575914	RANCHI TIKARIHA	Female	B. Sc./Science/I	Fresh	9	85	765	0	1565	1565	2330
1603395	RUDRAKANT VERMA	Male	B. A./Arts/I	Fresh	9	70	630	115	1515	1630	2260
1604404	RAJKUMAR NISAD	Male	B. Sc./Science/I	Fresh	9	70	630	115	1565	1680	2310
1527633	SONU RAM	Male	B. Sc./Science/I	Fresh	9	70	630	115	1565	1680	2310
1534086	SEEMA PATEL	Female	B. A./Arts/I	Fresh	9	85	765	0	1515	1515	2280

### **Declaration:**

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to ..... I do here by sanctioning a sum of Rs. .....Out of which Rs.....as maintenance allowance and Rs. ....as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.

Place: Date:

### **Government of Chhattisgarh**



Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Govt Chandulal Chand. Arts Sci. Coll. Patan

Academic Year: 2018-19

State: Government of Chhattisgarh

Sanction Number: N/8/4760/3/10/86307

Sanction Date: 12/03/2019

Applications Type: Fresh

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1548235	SOMNATH PATEL	Male	B. A./Arts/I	Fresh	9	70	630	115	1515	1630	2260
1562127	SUMIT KUMAR	Male	B. A./Arts/I	Fresh	9	70	630	115	1515	1630	2260
1562607	SAURABH KUMAR	Male	B. A./Arts/I	Fresh	9	70	630	115	1515	1630	2260
1565305	SANDHYA NISHAD	Female	B. A./Arts/I	Fresh	9	85	765	0	1515	1515	2280
1574825	SARSWATI NISHAD	Female	B. Sc./Science/I	Fresh	9	85	765	0	1565	1565	2330
1579652	SONAL NIRMAL	Female	B. A./Arts/I	Fresh	9	85	765	0	1515	1515	2280
1583981	SAVITRI NO NAME	Female	B. Com./Commerce/I	Fresh	9	85	765	0	1515	1515	2280
1587385	SHILVEE DEWANGAN	Female	B. Sc./Science/I	Fresh	9	85	765	0	1565	1565	2330
1495712	TIKESH PATEL	Female	B. A./Arts/I	Fresh	9	85	765	0	1515	1515	2280
1507048	TARUNA SAHU	Female	B. Sc./Science/I	Fresh	9	85	765	0	1565	1565	2330
1527405	TARINEE SAHU	Female	B. A./Arts/I	Fresh	10	85	850	0	1515	1515	2365
1533096	TARNI PAL	Female	B. Sc./Science/I	Fresh	9	85	765	0	1565	1565	2330
1537965	TEJESHWAR KUMAR	Male	B. Com./Commerce/I	Fresh	9	70	630	115	1515	1630	2260
1545827	TULESHWARI SAHU	Female	B. A./Arts/I	Fresh	9	85	765	0	1515	1515	2280
1546156	TULESH KUMAR	Male	B. A./Arts/I	Fresh	9	70	630	115	1515	1630	2260
1559502	TEJESHWAR PRASAD	Male	B. Com./Commerce/I	Fresh	9	70	630	115	1515	1630	2260
1567083	TIKESH KUMAR SAHU	Male	B. A./Arts/I	Fresh	9	70	630	115	1515	1630	2260
1587618	TAMESHWAR NONAME	Male	B. A./Arts/I	Fresh	9	70	630	115	1515	1630	2260

#### **Declaration:**

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to ..... I do here by sanctioning a sum of Rs. .....Out of which Rs.....as maintenance allowance and Rs. ....as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.

Place: Date:

### **Government of Chhattisgarh**



Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Govt Chandulal Chand. Arts Sci. Coll. Patan

Academic Year: 2018-19

State: Government of Chhattisgarh

Sanction Number: N/8/4760/3/10/86307

Sanction Date: 12/03/2019

Applications Type: Fresh

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1594892	TUKESHWAR SINHA	Male	B. Sc./Science/I	Fresh	9	70	630	115	1565	1680	2310
1566758	URMILA NISHAD	Female	M. A./Hindi/I	Fresh	8	100	800	0	5245	5245	6045
1532926	VIJAY KUMAR	Male	M. Sc./Zoology/I	Fresh	9	100	900	115	6265	6380	7280
1534553	VARSHA CHANDRAKAR	Female	B. Sc./Science/I	Fresh	9	85	765	0	1565	1565	2330
1547182	VARSHA YADAV	Female	B. A./Arts/I	Fresh	9	85	765	0	1515	1515	2280
1555430	VANDANA DEWANGAN	Female	B. Sc./Science/I	Fresh	9	85	765	0	1565	1565	2330
1558623	VEENU SAHU	Female	B. A./Arts/I	Fresh	9	85	765	0	1515	1515	2280
1559323	VIVEK KUMAR VERMA	Male	PGDCA/Computer Application/I	Fresh	8	100	800	115	9390	9505	10305
1561737	VAIBHAV KUMAR	Male	B. Sc./Science/I	Fresh	9	70	630	115	1565	1680	2310
1576688	VEENA SAHU	Female	B. Sc./Science/I	Fresh	9	85	765	0	1565	1565	2330
1587579	VINAY KUMAR	Male	M. A./Sociology/I	Fresh	8	100	800	115	1745	1860	2660
1595728	VAISHALI NO NAME	Female	B. A./Arts/I	Fresh	10	85	850	0	1515	1515	2365
1599044	VEERBALA NO NAME	Female	B. Sc./Science/I	Fresh	9	85	765	0	1565	1565	2330
1498695	YOGITA NO NAME	Female	B. A./Arts/I	Fresh	9	85	765	0	1515	1515	2280
1536127	YOGESHWARI NONAME	Female	B. A./Arts/I	Fresh	9	85	765	0	1515	1515	2280
1539027	YOGITA NISHAD	Female	B. Sc./Science/I	Fresh	9	85	765	0	1565	1565	2330
1556300	YAMUNA PATEL	Female	B. A./Arts/I	Fresh	9	85	765	0	1515	1515	2280

### **Declaration:**

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to ..... I do here by sanctioning a sum of Rs. .....Out of which Rs.....as maintenance allowance and Rs. ....as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.

Place: Date:

### **Government of Chhattisgarh**



Scholarship Scheme: Post Matric OBC Scholarship State: Government of Chhattisgarh

Category: OBC Sanction Number: N/8/4760/3/10/86307

Institute Name: Govt Chandulal Chand. Arts Sci. Coll. Patan Sanction Date: 12/03/2019

Academic Year: 2018-19 Applications Type: Fresh

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1586177	YASHODA SINHA	Female	B. A./Arts/I	Fresh	9	85	765	0	1515	1515	2280
1601731	YASHWANT KUMAR	Male	B. A./Arts/I	Fresh	9	70	630	115	1515	1630	2260
1554278	VARSHA NONAME	Female	B. Sc./Science/I	Fresh	9	85	765	0	1565	1565	2330
1579841	VEENA NISHAD	Female	B. A./Arts/I	Fresh	9	85	765	0	1515	1515	2280
1588247	YOGESH PAL	Male	B. A./Arts/I	Fresh	9	70	630	115	1515	1630	2260
	1601731 YASHWANT KUMAR Male B. A./Arts/I 1554278 VARSHA NONAME Female B. Sc./Science/I 1579841 VEENA NISHAD Female B. A./Arts/I					Total :	302240	17250	1098520	1115770	1418010

### **Declaration:**

Place :

Date:

### **Government of Chhattisgarh**



Scholarship Scheme: Post Matric OBC Scholarship State: Government of Chhattisgarh

Category: OBC Sanction Number: R/8/4760/3/10/86341

Institute Name: Govt Chandulal Chand. Arts Sci. Coll. Patan Sanction Date: 12/03/2019

Academic Year: 2018-19 Applications Type: Renewal

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
169192	HEMA SAHU	Female	M. Sc./Zoology/II	Renewal	9	100	900	0	6265	6265	7165
183858	TEEKAM SAHU	Male	M. Sc./Zoology/II	Renewal	9	100	900	115	6265	6380	7280
193350	VAIJANTIYA PATEL	Female	M. A./Economics/II	Renewal	9	100	900	0	5245	5245	6145
219407	LEELAWATI NONAME	Female	B. A./Arts/III	Renewal	7	85	595	0	1515	1515	2110
208449	DOMAN LAL SAHU	Male	M. Sc./Zoology/II	Renewal	9	100	900	115	6265	6380	7280
220068	SUNIL KUMAR NONAME	Male	M. Sc./Zoology/II	Renewal	9	100	900	115	6265	6380	7280
225215	YUVRAJ SAHU	Male	M. Sc./Chemistry/II	Renewal	9	100	900	115	6265	6380	7280
226677	MAHESH KUMAR NONAME	Male	B. A./Arts/III	Renewal	7	70	490	115	1515	1630	2120
240110	RUPENDRA KUMAR NISAD	Male	M. Sc./Botany/II	Renewal	9	100	900	115	6265	6380	7280
277492	SHEKHAR NO NAME VERMA	Male	B. Sc./Science/III	Renewal	8	70	560	115	1565	1680	2240
280001	ANIL KUMAR NO NAME	Male	M. Sc./Chemistry/II	Renewal	9	100	900	115	6265	6380	7280
320281	PRIYANKA VERMA	Female	M. A./Pol. Science/II	Renewal	9	100	900	0	1745	1745	2645
288134	KHILESHWARI NO NAME	Female	M. A./Pol. Science/II	Renewal	9	100	900	0	1745	1745	2645
327725	NIDHI NONAME	Female	M. Sc./Botany/II	Renewal	9	100	900	0	6265	6265	7165
824622	RADHIKA NO NAME	Female	B. A./Arts/III	Renewal	7	85	595	0	1515	1515	2110
824324	YAMLESHWAR SAHU	Male	M. Sc./Zoology/II	Renewal	9	100	900	115	6265	6380	7280
703053	HEMLATA NO NAME	Female	B. A./Arts/III	Renewal	7	85	595	0	1515	1515	2110

### **Declaration:**

Place : Date :

### **Government of Chhattisgarh**



Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Govt Chandulal Chand. Arts Sci. Coll. Patan

Academic Year: 2018-19

State: Government of Chhattisgarh

Ctate: Coronnicit of Chilatingan

Sanction Date: 12/03/2019

Sanction Number: R/8/4760/3/10/86341

Applications Type: Renewal

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
683429	ROSHAN BANCHOR	Male	B. A./Arts/III	Renewal	7	70	490	115	1515	1630	2120
670143	KIRTAN KUMAR NONAME	Male	B. Com./Commerce/III	Renewal	8	70	560	115	1515	1630	2190
671452	RAJNANDANI NO NAME	Female	M. A./Sociology/II	Renewal	9	100	900	0	1745	1745	2645
660878	OMESHWARI NO NAME	Female	B. A./Arts/II	Renewal	7	85	595	0	1515	1515	2110
648342	TEENA VERMA	Female	M. Sc./Zoology/II	Renewal	9	100	900	0	6265	6265	7165
639475	MEENA NO	Female	B. Com./Commerce/III	Renewal	8	85	680	0	1515	1515	2195
602596	SHRADHDA NO NAME	Female	B. A./Arts/III	Renewal	7	85	595	0	1515	1515	2110
554381	BHUMIKA SAHU	Female	M. A./Hindi/II	Renewal	9	100	900	0	5245	5245	6145
468157	GEETANJALI NO	Female	M. Sc./Botany/II	Renewal	9	100	900	0	6265	6265	7165
493499	VIJENDRA KUMAR	Male	B. A./Arts/III	Renewal	7	70	490	115	1515	1630	2120
495093	BHAVANA NO NAME	Female	M. Sc./Botany/II	Renewal	9	100	900	0	6265	6265	7165
369559	BABITA KUMARI	Female	M. Sc./Zoology/II	Renewal	9	100	900	0	6265	6265	7165
300087	BHAVANA NO NAME	Female	M. A./Pol. Science/II	Renewal	9	100	900	0	1745	1745	2645
335493	HITESHWARI NO NAME	Female	M. A./Sociology/II	Renewal	9	100	900	0	1745	1745	2645
374782	Seema no name	Female	M. Sc./Botany/II	Renewal	9	100	900	0	6265	6265	7165
452666	RATNA NO NAME	Female	M. Sc./Chemistry/II	Renewal	8	100	800	0	6265	6265	7065
466624	DULESHWARI NO	Female	M. Sc./Zoology/II	Renewal	9	100	900	0	6265	6265	7165
492019	LAXMI SAHU	Female	M. A./Pol. Science/II	Renewal	9	100	900	0	1745	1745	2645

#### **Declaration:**

Place :

Date:

### **Government of Chhattisgarh**



Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Govt Chandulal Chand. Arts Sci. Coll. Patan

Academic Year: 2018-19

State: Government of Chhattisgarh

Sanction Number: R/8/4760/3/10/86341

Sanction Date: 12/03/2019

Applications Type: Renewal

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
515882	GAYATRI PATEL	Female	M. A./Hindi/II	Renewal	9	100	900	0	5245	5245	6145
545005	DALI SAHU	Female	M. Sc./Mathematics/II	Renewal	9	100	900	0	1745	1745	2645
556525	GEETANJALI VERMA	Female	M. A./Economics/II	Renewal	9	100	900	0	5245	5245	6145
559739	SEEMA SAHU	Female	B. Sc./Science/III	Renewal	8	85	680	0	1565	1565	2245
601130	kishor kumar no name	Male	B. A./Arts/III	Renewal	7	70	490	115	1515	1630	2120
606033	SHASHI KANT	Male	B. A./Arts/II	Renewal	7	70	490	115	1515	1630	2120
622768	NEHA NO NAME	Female	B. Sc./Science/III	Renewal	8	85	680	0	1565	1565	2245
913585	KIRAN SAHU	Female	B. A./Arts/III	Renewal	7	85	595	0	1515	1515	2110
912886	KEVALRAM NO NAME	Male	B. A./Arts/III	Renewal	7	70	490	115	1515	1630	2120
911135	HIMANSHU SAHU	Female	M. Sc./Chemistry/II	Renewal	9	100	900	0	6265	6265	7165
906634	PRIYA YADU	Female	B. A./Arts/II	Renewal	7	85	595	0	1515	1515	2110
906432	LAKSHMI VERMA	Female	B. A./Arts/III	Renewal	7	85	595	0	1515	1515	2110
885517	MOHAN LAL CHAKRADHARI	Male	B. A./Arts/III	Renewal	7	70	490	115	1515	1630	2120
885394	DHANANJAY KUMAR NA	Male	B. A./Arts/III	Renewal	7	70	490	115	1515	1630	2120
869927	Jageshwari Sahu	Female	M. Sc./Botany/II	Renewal	9	100	900	0	6265	6265	7165
891592	JITESHWARI NONAME	Female	B. A./Arts/III	Renewal	8	130	1040	0	1515	1515	2555
462843	MONIKA SAHU	Female	M. Sc./Botany/II	Renewal	9	100	900	0	6265	6265	7165
601769	DHANESHWARI SAHU	Female	M. Sc./Chemistry/II	Renewal	9	100	900	0	6265	6265	7165

### **Declaration:**

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to ..... I do here by sanctioning a sum of Rs. .....Out of which Rs.....as maintenance allowance and Rs. ....as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.

Place: Date:

### **Government of Chhattisgarh**



Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Govt Chandulal Chand. Arts Sci. Coll. Patan

Academic Year: 2018-19

State: Government of Chhattisgarh

Sanction Date: 12/03/2019

Sanction Number: R/8/4760/3/10/86341

Applications Type: Renewal

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
614605	RITU NO NAME	Female	B. A./Arts/III	Renewal	7	85	595	0	1515	1515	2110
636860	PURNENDRA KUMAR	Male	B. A./Arts/III	Renewal	7	70	490	115	1515	1630	2120
623813	PREMLATA SAHU	Female	B. A./Arts/III	Renewal	7	85	595	0	1515	1515	2110
659753	DIVYA SINHA	Female	B. Sc./Science/III	Renewal	8	85	680	0	1565	1565	2245
824680	BHUMIKA NO NAME	Female	B. A./Arts/III	Renewal	7	85	595	0	1515	1515	2110
832401	URVASHI NO NAME	Female	M. A./Sociology/II	Renewal	9	100	900	0	1745	1745	2645
839490	GIRISH KUMAR NO NAME	Male	B. Com./Commerce/III	Renewal	8	70	560	115	1515	1630	2190
862424	SANJAY KUMAR NA	Male	B. A./Arts/II	Renewal	7	70	490	115	1515	1630	2120
916873	KAJAL CHANDRAKAR	Female	B. A./Arts/III	Renewal	7	85	595	0	1515	1515	2110
924425	NAGENDRA SAHU	Male	B. A./Arts/III	Renewal	7	70	490	115	1515	1630	2120
966628	YAMINI VAISHNAV	Female	M. Sc./Botany/II	Renewal	9	100	900	0	6265	6265	7165
971662	RISHI KUMAR NONAME	Male	B. A./Arts/III	Renewal	7	70	490	115	1515	1630	2120
975990	Veena nosarname	Female	B. Sc./Science/III	Renewal	8	85	680	0	1565	1565	2245
971895	MILESH KUMAR NONAME	Male	B. A./Arts/III	Renewal	7	70	490	115	1515	1630	2120
1006450	NOMIN SINHA	Female	B. A./Arts/III	Renewal	8	85	680	0	1515	1515	2195
691184	VERSHA VERMA	Female	B. Sc./Science/III	Renewal	8	85	680	0	1565	1565	2245
717789	CHANDRAPRABHA SAHU	Female	M. Sc./Zoology/II	Renewal	9	100	900	0	6265	6265	7165
842756	YUVRAJ SAHU	Male	B. A./Arts/II	Renewal	7	70	490	115	1515	1630	2120

#### **Declaration:**

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to ..... I do here by sanctioning a sum of Rs. .....Out of which Rs.....as maintenance allowance and Rs. ....as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.

Place: Date:

### **Government of Chhattisgarh**



State: Government of Chhattisgarh

Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC Sanction Number: R/8/4760/3/10/86341

Institute Name: Govt Chandulal Chand. Arts Sci. Coll. Patan Sanction Date: 12/03/2019

Academic Year: 2018-19 Applications Type: Renewal

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
845292	SUMAN NO NAME	Female	B. A./Arts/III	Renewal	7	85	595	0	1515	1515	2110
845517	GOPAL KUMAR NO NAME	Male	B. A./Arts/III	Renewal	7	70	490	115	1515	1630	2120
847276	PRIYANKA NA	Female	M. Sc./Chemistry/II	Renewal	9	100	900	0	6265	6265	7165
849174	OMBAI NO NAME	Female	B. A./Arts/III	Renewal	7	85	595	0	1515	1515	2110
863859	VIDYA NO NAME	Female	M. A./Pol. Science/II	Renewal	9	100	900	0	1745	1745	2645
857315	KESHAR SAHU	Female	M. Sc./Chemistry/II	Renewal	9	100	900	0	6265	6265	7165
842860	BABULAL NO NAME	Male	B. A./Arts/III	Renewal	7	70	490	115	1515	1630	2120
849130	SHAKUNTALA NO NAME	Female	B. A./Arts/III	Renewal	7	85	595	0	1515	1515	2110
864419	POOJA NA	Female	M. Sc./Zoology/II	Renewal	9	100	900	0	6265	6265	7165
1027214	KHILESHWARI NO NAME	Female	B. A./Arts/III	Renewal	7	85	595	0	1515	1515	2110
1026997	LAXMI NO NAME	Female	B. A./Arts/III	Renewal	7	85	595	0	1515	1515	2110
1026748	NUTAN NO NAME	Female	B. A./Arts/III	Renewal	7	85	595	0	1515	1515	2110
1025327	LATA NO NAME	Female	B. Sc./Science/III	Renewal	8	85	680	0	1565	1565	2245
1023599	DIKESHWAR SAHU	Male	B. A./Arts/II	Renewal	7	70	490	115	1515	1630	2120
1023222	TOMESHWARI YADAV NO NAME	Female	B. A./Arts/III	Renewal	7	85	595	0	1515	1515	2110
1019583	NISHA NO NAME	Female	B. A./Arts/III	Renewal	7	85	595	0	1515	1515	2110
1019693	SWATI NO NAME	Female	B. Sc./Science/III	Renewal	8	85	680	0	1565	1565	2245
1019221	DAMINI NO NAME	Female	B. A./Arts/III	Renewal	7	85	595	0	1515	1515	2110

#### **Declaration:**

Place : Date :

### **Government of Chhattisgarh**



Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Govt Chandulal Chand. Arts Sci. Coll. Patan

Academic Year: 2018-19

State: Government of Chhattisgarh

Sanction Date: 12/03/2019

Sanction Number: R/8/4760/3/10/86341

Applications Type: Renewal

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1017003	TOMIN NO NAME	Female	B. A./Arts/III	Renewal	7	85	595	0	1515	1515	2110
1016457	BHARTI NO NAME	Female	B. A./Arts/III	Renewal	7	85	595	0	1515	1515	2110
1019289	DULESHWARI NO NAME	Female	B. A./Arts/III	Renewal	7	85	595	0	1515	1515	2110
994414	KULESHWAR SAHU	Male	M. Sc./Botany/II	Renewal	9	100	900	115	6265	6380	7280
971990	KAUSHAL NONAME	Male	B. A./Arts/III	Renewal	7	70	490	115	1515	1630	2120
967708	NEHA NONAME	Female	B. A./Arts/III	Renewal	7	85	595	0	1515	1515	2110
924737	TIKARAM SAHU	Male	B. A./Arts/III	Renewal	7	70	490	115	1515	1630	2120
853622	ROSHAN LAL DEWANGAN	Male	B. A./Arts/III	Renewal	8	70	560	115	1515	1630	2190
853749	HEENA NO	Female	M. Sc./Botany/II	Renewal	9	100	900	0	6265	6265	7165
853992	DEEPAK KUMAR CHANDRAKAR	Male	M. Sc./Chemistry/II	Renewal	9	100	900	115	6265	6380	7280
870411	POOJA NO NAME	Female	M. A./Hindi/II	Renewal	9	100	900	0	5245	5245	6145
884325	SONAM PATEL	Female	B. A./Arts/III	Renewal	7	85	595	0	1515	1515	2110
906504	PRATIMA KOSHE	Female	B. Com./Commerce/III	Renewal	8	85	680	0	1515	1515	2195
913816	NIRAJ DEWANGAN	Male	B. A./Arts/III	Renewal	7	70	490	115	1515	1630	2120
917163	BHUMIKA DHIWAR	Female	B. A./Arts/III	Renewal	7	85	595	0	1515	1515	2110
917260	PRIYA VERMA	Female	B. A./Arts/III	Renewal	7	85	595	0	1515	1515	2110
920452	AJAY KUMAR NO NAME	Male	B. Sc./Science/III	Renewal	8	70	560	115	1565	1680	2240
922457	JANKI SAHU	Female	B. Sc./Science/III	Renewal	8	85	680	0	1565	1565	2245

### **Declaration:**

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to ..... I do here by sanctioning a sum of Rs. .....Out of which Rs.....as maintenance allowance and Rs. ....as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.

Place: Date:

### **Government of Chhattisgarh**



Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Govt Chandulal Chand. Arts Sci. Coll. Patan

Academic Year: 2018-19

State: Government of Chhattisgarh

Claire : Coroninioni oi Cimiatilogai

Sanction Date : 12/03/2019

Sanction Number: R/8/4760/3/10/86341

Applications Type: Renewal

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
938266	OMESHWARI PATEL	Female	B. A./Arts/III	Renewal	7	85	595	0	1515	1515	2110
949743	ANUPURNA NONAME	Female	B. A./Arts/III	Renewal	7	85	595	0	1515	1515	2110
967391	LAXMI NONAME	Female	B. A./Arts/III	Renewal	7	85	595	0	1515	1515	2110
968810	SADHANA NONAME	Female	B. A./Arts/III	Renewal	8	85	680	0	1515	1515	2195
969203	DAMINI NONAME	Female	B. Sc./Science/III	Renewal	8	85	680	0	1565	1565	2245
969244	DEEPIKA NONAME	Female	B. A./Arts/III	Renewal	7	85	595	0	1515	1515	2110
969450	MONIKA NONAME	Female	B. Sc./Science/III	Renewal	8	85	680	0	1565	1565	2245
972033	DEEPAK KUMAR NONAME	Male	B. A./Arts/III	Renewal	7	70	490	115	1515	1630	2120
972076	HARISH KUMAR NONAME	Male	B. A./Arts/II	Renewal	7	70	490	115	1515	1630	2120
983747	KHILESHWARI SAHU	Female	B. A./Arts/III	Renewal	7	85	595	0	1515	1515	2110
1006674	PREMANJALI SINHA	Female	B. A./Arts/III	Renewal	7	85	595	0	1515	1515	2110
1014000	NEHA BHALE	Female	B. Com./Commerce/III	Renewal	8	85	680	0	1515	1515	2195
1014575	RUMA NO NAME	Female	B. A./Arts/III	Renewal	8	85	680	0	1515	1515	2195
1016441	MALTI NO NAME	Female	B. Sc./Science/III	Renewal	8	85	680	0	1565	1565	2245
1016995	PRANJAL SINHA NO NAME	Female	B. A./Arts/III	Renewal	7	85	595	0	1515	1515	2110
1019673	VEENU KASHYAP NO NAME	Female	B. A./Arts/III	Renewal	7	85	595	0	1515	1515	2110
1019114	TARANI NO NAME	Female	B. A./Arts/III	Renewal	7	85	595	0	1515	1515	2110
1019926	URVASHI NO NAME	Female	B. A./Arts/III	Renewal	7	85	595	0	1515	1515	2110

#### **Declaration:**

Place :

Name (Capital Leters) :

(Signature & Seal of Head of the Institution)

### **Government of Chhattisgarh**



Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Govt Chandulal Chand. Arts Sci. Coll. Patan

Academic Year: 2018-19

State: Government of Chhattisgarh

Sanction Number: R/8/4760/3/10/86341 Sanction Date: 12/03/2019

Applications Type: Renewal

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1023799	SUJEET KUMAR SAHU	Male	B. A./Arts/III	Renewal	7	70	490	115	1515	1630	2120
1026472	POONAM NO NAME	Female	B. A./Arts/III	Renewal	7	85	595	0	1515	1515	2110
1027450	BHUMIKA VERMA	Female	B. Sc./Science/III	Renewal	8	85	680	0	1565	1565	2245
1027824	CHANDRAKLA NO NAME	Female	B. A./Arts/III	Renewal	7	85	595	0	1515	1515	2110
1036292	BHARTI GAJENDRA	Female	B. Sc./Science/III	Renewal	8	85	680	0	1565	1565	2245
1038252	MANISHA NO NAME	Female	B. Sc./Science/III	Renewal	8	85	680	0	1565	1565	2245
1038410	JAYABHARTI NO NAME	Female	B. A./Arts/III	Renewal	8	85	680	0	1515	1515	2195
1038537	DIVYA NO NAME	Female	B. A./Arts/III	Renewal	8	85	680	0	1515	1515	2195
1045638	TAMRADHWAJ SAHU	Male	B. A./Arts/III	Renewal	7	70	490	115	1515	1630	2120
1053508	JYOTI NISHAD	Female	B. Sc./Science/II	Renewal	8	85	680	0	1565	1565	2245
1055777	MAMTA PATEL	Female	B. Sc./Science/III	Renewal	8	85	680	0	1565	1565	2245
1055807	PUSHPANJALI MANIKPURI	Female	B. A./Arts/III	Renewal	7	85	595	0	1515	1515	2110
1055861	CHITREKHA DHEWAR	Female	B. A./Arts/III	Renewal	8	85	680	0	1515	1515	2195
1057141	DHEERAJ VERMA	Male	B. A./Arts/III	Renewal	7	70	490	115	1515	1630	2120
1057162	KANCHAN SAHU	Female	B. A./Arts/III	Renewal	8	85	680	0	1515	1515	2195
1059374	YOGESHWAREE YADAV	Female	B. A./Arts/III	Renewal	7	85	595	0	1515	1515	2110
1061260	LOKESH KUMAR	Male	B. Sc./Science/III	Renewal	8	70	560	115	1565	1680	2240
1062558	DURGESHWARI NISHAD	Female	B. A./Arts/III	Renewal	7	85	595	0	1515	1515	2110

#### **Declaration:**

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to ..... I do here by sanctioning a sum of Rs. .....Out of which Rs.....as maintenance allowance and Rs. ....as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.

Place: Date:

### **Government of Chhattisgarh**



Scholarship Scheme: Post Matric OBC Scholarship State: Government of Chhattisgarh

Category: OBC Sanction Number: R/8/4760/3/10/86341

Institute Name : Govt Chandulal Chand. Arts Sci. Coll. Patan Sanction Date : 12/03/2019

Academic Year: 2018-19 Applications Type: Renewal

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1071063	RANU SONI	Female	B. Sc./Science/III	Renewal	8	85	680	0	1565	1565	2245
1073448	SHWETA VERMA	Female	B. Sc./Science/III	Renewal	8	85	680	0	1565	1565	2245
1073454	DAMINI VERMA	Female	B. Sc./Science/III	Renewal	8	85	680	0	1565	1565	2245
1073516	MADHU VERMA	Female	B. Sc./Science/III	Renewal	8	85	680	0	1565	1565	2245
1073815	NIDHI VERMA	Female	B. Sc./Science/III	Renewal	8	85	680	0	1565	1565	2245
1078924	KANCHAN VERMA	Female	B. Sc./Science/III	Renewal	8	85	680	0	1565	1565	2245
1079052	NIDHI VINAYAK	Female	B. Sc./Science/III	Renewal	8	85	680	0	1565	1565	2245
1079087	SEEMA NO NAME	Female	B. A./Arts/III	Renewal	7	85	595	0	1515	1515	2110
1079708	DAMINI NO NAME	Female	B. A./Arts/III	Renewal	7	85	595	0	1515	1515	2110
1094168	JYOTI VERMA	Female	B. A./Arts/III	Renewal	7	85	595	0	1515	1515	2110
1094170	NISHA VERMA	Female	B. A./Arts/II	Renewal	7	85	595	0	1515	1515	2110
1094340	NAVEEN KUMAR SAHU	Male	B. A./Arts/III	Renewal	7	70	490	115	1515	1630	2120
1094353	MADHUBALA SAHU	Female	B. Com./Commerce/II	Renewal	8	85	680	0	1515	1515	2195
1096618	BHUPENDRA NO NAME	Male	B. Sc./Science/III	Renewal	8	70	560	115	1565	1680	2240
1099509	AARTI SAHU	Female	B. A./Arts/III	Renewal	7	85	595	0	115	115	710
1099513	KANCHAN SAHU	Female	B. A./Arts/II	Renewal	7	85	595	0	1515	1515	2110
1102325	MADHURI SAHU	Female	B. Sc./Science/II	Renewal	8	85	680	0	1565	1565	2245
1102334	LITESHWARI SAHU	Female	B. A./Arts/III	Renewal	7	85	595	0	1515	1515	2110

#### **Declaration:**

Place : Date :

### **Government of Chhattisgarh**



Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Govt Chandulal Chand. Arts Sci. Coll. Patan

Academic Year: 2018-19

State: Government of Chhattisgarh

Sanction Date: 12/03/2019

Sanction Number: R/8/4760/3/10/86341

Applications Type: Renewal

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1102341	HEMLATA PATEL	Female	B. Sc./Science/III	Renewal	8	85	680	0	1565	1565	2245
1102417	GEETANJALI SAHU	Female	B. A./Arts/III	Renewal	7	85	595	0	1515	1515	2110
1102420	TULESHWARI SAHU	Female	B. Sc./Science/III	Renewal	8	85	680	0	1565	1565	2245
1102430	MANISHA PATEL	Female	B. Sc./Science/III	Renewal	8	85	680	0	1565	1565	2245
1113986	BIRENDRA KUMAR	Male	M. A./Pol. Science/II	Renewal	9	100	900	115	1745	1860	2760
1116935	DEEPALI DEWANGAN	Female	B. A./Arts/III	Renewal	7	85	595	0	1515	1515	2110
1119124	RITU SAHU	Female	M. A./Hindi/II	Renewal	9	100	900	0	5245	5245	6145
1184233	LAXMIKANT SAHU	Male	M. Sc./Mathematics/II	Renewal	9	100	900	115	1745	1860	2760
1174932	ASHISH KUMAR MARAR	Male	B. A./Arts/III	Renewal	7	70	490	115	1515	1630	2120
1171125	BHOOPESH NO NAME	Male	B. Sc./Science/III	Renewal	8	70	560	115	1565	1680	2240
1170542	MANJU NO NAME	Female	M. A./Sociology/II	Renewal	9	100	900	0	1745	1745	2645
1167788	LEESU VERMA	Female	M. A./Pol. Science/II	Renewal	9	100	900	0	1745	1745	2645
1162837	BHAVESH KUMAR	Male	B. A./Arts/II	Renewal	7	70	490	115	1515	1630	2120
1156148	TILOCHANI NO NAME	Female	M. A./Sociology/II	Renewal	9	100	900	0	1745	1745	2645
1151277	RAJAT KUMAR DEWANGAN	Male	B. A./Arts/III	Renewal	8	70	560	115	1515	1630	2190
1145384	KHEMLATA NO NAME	Female	M. Sc./Botany/II	Renewal	9	100	900	0	6265	6265	7165
1136437	VEENA NO NAME	Female	M. A./Pol. Science/II	Renewal	9	100	900	0	1745	1745	2645
1057586	DIVYA YADAV NO NAME	Female	B. Com./Commerce/III	Renewal	8	85	680	0	1515	1515	2195

#### **Declaration:**

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to ..... I do here by sanctioning a sum of Rs. .....Out of which Rs.....as maintenance allowance and Rs. ....as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.

Place: Date:

### **Government of Chhattisgarh**



Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Govt Chandulal Chand. Arts Sci. Coll. Patan

Academic Year: 2018-19

State: Government of Chhattisgarh

Sanction Number: R/8/4760/3/10/86341

Sanction Date: 12/03/2019

Applications Type: Renewal

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1061246	BHUSHAN LAL NISHAD	Male	B. Sc./Science/III	Renewal	8	70	560	115	1565	1680	2240
1102446	NANDANI DEWANGAN	Female	B. A./Arts/III	Renewal	7	85	595	0	1515	1515	2110
1123275	DEVENDRA KUMAR YADU	Male	B. A./Arts/III	Renewal	7	70	490	115	1515	1630	2120
1124411	CHETAN KUMAR	Male	M. A./Pol. Science/II	Renewal	9	100	900	115	1745	1860	2760
1144171	REVA RAM	Male	B. A./Arts/III	Renewal	7	70	490	115	1515	1630	2120
1145131	SHIKHA BHALE	Female	M. A./Sociology/II	Renewal	9	100	900	0	1745	1745	2645
1155094	LEENA SAHU	Female	M. A./Pol. Science/II	Renewal	9	100	900	0	1745	1745	2645
1186003	SUSHMITA CHANDRAKAR	Female	B. Com./Commerce/III	Renewal	8	85	680	0	1515	1515	2195
1129653	AARTI NAYAK	Female	M. A./Pol. Science/II	Renewal	9	100	900	0	1745	1745	2645
1211045	DILESH KUMAR	Male	B. Sc./Science/III	Renewal	8	70	560	115	1565	1680	2240
1222674	KANCHAN SAHU	Female	B. Sc./Science/III	Renewal	8	85	680	0	1565	1565	2245
1225157	YOGESH KUMAR	Male	B. A./Arts/III	Renewal	7	70	490	115	1515	1630	2120
1225893	JAMUNA NIRMALKAR	Female	B. A./Arts/III	Renewal	8	85	680	0	1515	1515	2195
1226095	NILESH KUMAR SAHU	Male	B. A./Arts/III	Renewal	7	70	490	115	1515	1630	2120
1226863	MINI VERMA	Female	B. Com./Commerce/III	Renewal	8	85	680	0	1515	1515	2195
1228936	Bhanu pratap Dewangan	Male	B. Com./Commerce/III	Renewal	9	70	630	115	1515	1630	2260
1232662	DANESHWARI DEWANGAN	Female	B. A./Arts/III	Renewal	7	85	595	0	1515	1515	2110
1232776	DAMINI NISHAD	Female	B. Sc./Science/III	Renewal	8	85	680	0	1565	1565	2245

### **Declaration:**

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to ..... I do here by sanctioning a sum of Rs. .....Out of which Rs.....as maintenance allowance and Rs. ....as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.

Place: Date:

### **Government of Chhattisgarh**



Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Govt Chandulal Chand. Arts Sci. Coll. Patan

Academic Year: 2018-19

State: Government of Chhattisgarh

Sanction Number: R/8/4760/3/10/86341 Sanction Date: 12/03/2019

Applications Type: Renewal

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1232850	DIVYA VERMA	Female	B. Sc./Science/III	Renewal	8	85	680	0	1565	1565	2245
1238488	KAUSHIL PAL	Female	B. Sc./Science/III	Renewal	7	85	595	0	1565	1565	2160
1228290	JYOTI SAHU	Female	B. A./Arts/III	Renewal	7	85	595	0	1515	1515	2110
1233075	BHAWANA VERMA	Female	B. A./Arts/III	Renewal	7	85	595	0	1515	1515	2110
1233221	DILESHWARI NIRMALKAR	Female	B. A./Arts/III	Renewal	7	85	595	0	1515	1515	2110
1233284	CHEETU CHANDRAKAR	Female	B. A./Arts/III	Renewal	7	85	595	0	1515	1515	2110
1233318	TRIPTI CHANDRAKAR	Female	B. A./Arts/III	Renewal	7	85	595	0	1515	1515	2110
1233346	RENU CHANDRAKAR	Female	B. A./Arts/III	Renewal	7	85	595	0	1515	1515	2110
1233813	DILESHWARI NO NAME	Female	B. A./Arts/III	Renewal	7	85	595	0	1515	1515	2110
1233863	RANILAXMI SINHA	Female	B. A./Arts/III	Renewal	8	85	680	0	1515	1515	2195
1234691	MANJU SAHU	Female	B. Com./Commerce/III	Renewal	8	85	680	0	1515	1515	2195
1234911	RUPRAM NO NAME	Male	B. A./Arts/III	Renewal	7	70	490	115	1515	1630	2120
1237025	FALGUNI VERMA	Female	B. Sc./Science/III	Renewal	8	85	680	0	1565	1565	2245
1239014	ASAWAN NISHAD	Male	B. A./Arts/II	Renewal	7	70	490	115	1515	1630	2120
1239777	JHARANA NO NAME	Female	B. Sc./Science/III	Renewal	8	85	680	0	1565	1565	2245
1240194	CHANDRABHAN NO NAME	Male	B. A./Arts/III	Renewal	7	70	490	115	1515	1630	2120
1240861	MUKESH KUMAR	Male	B. A./Arts/III	Renewal	7	70	490	115	1515	1630	2120
1241025	RITESH KUMAR	Male	B. A./Arts/III	Renewal	7	70	490	115	1515	1630	2120

#### **Declaration:**

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to ..... I do here by sanctioning a sum of Rs. .....Out of which Rs.....as maintenance allowance and Rs. ....as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.

Place: Date:

### **Government of Chhattisgarh**



Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Govt Chandulal Chand. Arts Sci. Coll. Patan

Academic Year: 2018-19

State: Government of Chhattisgarh

Sanction Number: R/8/4760/3/10/86341 Sanction Date: 12/03/2019

Applications Type: Renewal

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1241048	TORAN LAL	Male	B. A./Arts/III	Renewal	7	70	490	115	1515	1630	2120
1245745	ABHISHEK SAHU	Male	B. A./Arts/III	Renewal	7	70	490	115	1515	1630	2120
1252009	ANJU XXXX	Female	B. A./Arts/III	Renewal	7	85	595	0	1515	1515	2110
1253288	ANITA PRAJAPATI	Female	B. Com./Commerce/III	Renewal	8	85	680	0	1515	1515	2195
1354821	AASHA SAHU	Female	B. A./Arts/II	Renewal	7	85	595	0	1515	1515	2110
1374544	AJAY KUMAR YADAV	Male	B. Sc./Science/II	Renewal	7	70	490	115	1565	1680	2170
1401760	AJAY KUMAR	Male	B. A./Arts/II	Renewal	7	70	490	115	1515	1630	2120
1408618	ANAMIKA VERMA NO NAME	Female	B. A./Arts/III	Renewal	7	85	595	0	1515	1515	2110
1409918	AMAN KUMAR	Male	B. A./Arts/III	Renewal	7	70	490	115	1515	1630	2120
1412612	ABHISHEK KUMAR VERMA	Male	B. A./Arts/III	Renewal	7	70	490	115	1515	1630	2120
1413974	AMBIKA DEVI	Female	M. Sc./Chemistry/II	Renewal	9	100	900	0	6265	6265	7165
1475984	AJAY KUMAR	Male	B. A./Arts/III	Renewal	7	70	490	115	1515	1630	2120
1517787	ARCHNA NONAME	Female	B. A./Arts/II	Renewal	7	85	595	0	1515	1515	2110
1525828	AANCHAL VERMA	Female	B. A./Arts/II	Renewal	7	85	595	0	1515	1515	2110
1544856	ANITA SINHA	Female	B. A./Arts/III	Renewal	7	85	595	0	1515	1515	2110
1556047	AKASH VERMA	Male	B. A./Arts/II	Renewal	7	70	490	115	1515	1630	2120
1585386	ANJALI SAHU	Female	B. Sc./Science/II	Renewal	7	85	595	0	1565	1565	2160
1333150	BHARTI DHANKAR	Female	B. A./Arts/II	Renewal	7	85	595	0	1515	1515	2110

### **Declaration:**

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to ..... I do here by sanctioning a sum of Rs. .....Out of which Rs.....as maintenance allowance and Rs. ....as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.

Place: Date:

### **Government of Chhattisgarh**



Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Govt Chandulal Chand. Arts Sci. Coll. Patan

Academic Year: 2018-19

State: Government of Chhattisgarh

Sanction Number: R/8/4760/3/10/86341 Sanction Date: 12/03/2019

Applications Type: Renewal

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1339703	BHUMIKA SAHU	Female	B. A./Arts/II	Renewal	8	85	680	0	1515	1515	2195
1339917	BHAVANA VERMA	Female	B. A./Arts/II	Renewal	7	85	595	0	1515	1515	2110
1365365	BHUPESH KUMAR SAHU	Male	B. A./Arts/II	Renewal	7	70	490	115	1515	1630	2120
1345592	BHARTI GOSWAMI	Female	B. A./Arts/II	Renewal	7	85	595	0	1515	1515	2110
1373011	BHESHNARAYAN NONAME	Male	B. A./Arts/II	Renewal	7	70	490	115	1515	1630	2120
1380880	BHUPENDRA KUMAR	Male	B. A./Arts/II	Renewal	7	70	490	115	1515	1630	2120
1383431	BHOLA RAM	Male	B. A./Arts/II	Renewal	7	70	490	115	1515	1630	2120
1389954	BHUMIKA VERMA	Female	B. A./Arts/II	Renewal	7	85	595	0	1515	1515	2110
1461269	BHARTI SAHU	Female	B. A./Arts/III	Renewal	7	85	595	0	1515	1515	2110
1531057	BHAVANA VERMA	Female	B. Sc./Science/II	Renewal	8	85	680	0	1565	1565	2245
1538669	BHUPENDRA KUMAR VERMA	Male	B. A./Arts/II	Renewal	7	70	490	115	1515	1630	2120
1549594	BHAWNA NO NAME	Female	M. Sc./Mathematics/II	Renewal	9	100	900	0	1745	1745	2645
1581587	BIRENDRA KUMAR	Male	B. A./Arts/III	Renewal	7	70	490	115	1515	1630	2120
1339455	CHANDRAKALA SAHU	Female	B. A./Arts/II	Renewal	9	85	765	0	1515	1515	2280
1341033	CHHAYA SAHU	Female	B. Com./Commerce/II	Renewal	8	85	680	0	1515	1515	2195
1362968	CHANDNI YADAV	Female	B. A./Arts/II	Renewal	7	85	595	0	1515	1515	2110
1364441	CHANDRAKALA CHANDRAKAR	Female	B. A./Arts/II	Renewal	7	85	595	0	1515	1515	2110
1371503	CHAMPA SAHU	Female	B. Sc./Science/II	Renewal	8	85	680	0	1565	1565	2245

#### **Declaration:**

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to ..... I do here by sanctioning a sum of Rs. .....Out of which Rs.....as maintenance allowance and Rs. ....as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.

Place: Date:

### **Government of Chhattisgarh**



Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Govt Chandulal Chand. Arts Sci. Coll. Patan

Academic Year: 2018-19

State: Government of Chhattisgarh

otato: ooroniinontoi omatiloga

Sanction Date: 12/03/2019

Sanction Number: R/8/4760/3/10/86341

Applications Type: Renewal

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1371953	CHANDRAPRAKASH NIRMALKAR	Male	B. A./Arts/II	Renewal	7	70	490	115	1515	1630	2120
1423636	CHANDRABHAN SINHA	Male	B. Sc./Science/II	Renewal	8	70	560	115	1565	1680	2240
1424304	CHANDRASHEKHAR SAHU	Male	B. A./Arts/II	Renewal	7	70	490	115	1515	1630	2120
1584303	CHHABI RAM	Male	B. A./Arts/II	Renewal	7	70	490	115	1515	1630	2120
1259940	DURGESH KUMAR	Male	B. A./Arts/III	Renewal	8	70	560	115	1515	1630	2190
1300083	DHARMENDRA KUMAR	Male	B. A./Arts/III	Renewal	7	70	490	115	1515	1630	2120
1322171	DEVAKI NISHAD	Female	B. A./Arts/II	Renewal	7	85	595	0	1515	1515	2110
1322599	DROPADI NO NAME	Female	B. A./Arts/II	Renewal	7	85	595	0	1515	1515	2110
1330659	DINESHWARI PAL	Female	B. A./Arts/II	Renewal	7	85	595	0	1515	1515	2110
1344914	DHANESHWAREE NO NAME	Female	B. A./Arts/II	Renewal	7	85	595	0	1515	1515	2110
1348389	DIKESHWAR YADAV	Male	B. A./Arts/II	Renewal	7	70	490	115	1515	1630	2120
1352175	DEEGESH KUMAR PATEL	Male	B. A./Arts/II	Renewal	7	70	490	115	1515	1630	2120
1365637	DHANESHWARI VERMA	Female	M. A./Pol. Science/II	Renewal	9	100	900	0	1745	1745	2645
1365707	DEEPA SAHU	Female	B. A./Arts/II	Renewal	7	85	595	0	1515	1515	2110
1372410	DULESHWARI VERMA	Female	B. A./Arts/II	Renewal	7	85	595	0	1515	1515	2110
1388931	DEEPTI SINHA	Female	B. Com./Commerce/II	Renewal	8	85	680	0	1515	1515	2195
1398728	DOLLY YADAV	Female	B. Sc./Science/II	Renewal	8	85	680	0	1565	1565	2245

### **Declaration:**

Place : Date :

### **Government of Chhattisgarh**



Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Govt Chandulal Chand. Arts Sci. Coll. Patan

Academic Year: 2018-19

State: Government of Chhattisgarh

Sanction Date: 12/03/2019

Sanction Number: R/8/4760/3/10/86341

Applications Type: Renewal

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1400373	DAMANI YADAV	Female	B. A./Arts/III	Renewal	7	85	595	0	1515	1515	2110
1517462	DAGESHWAR NO NAME	Male	B. A./Arts/II	Renewal	7	70	490	115	1515	1630	2120
1610218	DILIP KUMAR	Male	B. Com./Commerce/III	Renewal	8	70	560	115	1515	1630	2190
1597619	DIPANSHU DEWANGAN	Male	B. A./Arts/II	Renewal	7	70	490	115	1515	1630	2120
1595266	DEEPAK KUMAR	Male	B. A./Arts/III	Renewal	7	70	490	115	1515	1630	2120
1557029	DHANESHWARI VERMA	Female	B. A./Arts/II	Renewal	7	85	595	0	1515	1515	2110
1489820	DEKESHWAR PATEL	Male	B. A./Arts/II	Renewal	7	70	490	115	1515	1630	2120
1499796	DEEPTI NONAME	Female	B. A./Arts/II	Renewal	7	85	595	0	1515	1515	2110
1499893	DHANESHWARI VERMA	Female	B. A./Arts/III	Renewal	7	85	595	0	1515	1515	2110
1500905	DAMINI VERMA	Female	B. A./Arts/III	Renewal	7	85	595	0	1515	1515	2110
1501814	DIKESH KUMAR	Male	B. A./Arts/II	Renewal	7	70	490	115	1515	1630	2120
1242209	NARESH KUMAR	Male	B. Sc./Science/III	Renewal	8	70	560	115	1565	1680	2240
1242558	shivendra kumar	Male	B. A./Arts/III	Renewal	7	70	490	115	1515	1630	2120
1243262	KHILESHWARI SAHU	Female	B. Sc./Science/III	Renewal	8	85	680	0	1565	1565	2245
1243792	EKTA CHANDRAKAR	Female	M. Sc./Zoology/II	Renewal	9	100	900	0	6265	6265	7165
1245194	RITU SAHU	Female	B. A./Arts/III	Renewal	7	85	595	0	1515	1515	2110
1246898	VINAY KUMAR	Male	B. A./Arts/III	Renewal	8	70	560	115	1515	1630	2190
1555080	DAMIN SINHA	Female	B. A./Arts/II	Renewal	7	85	595	0	1515	1515	2110

### **Declaration:**

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to ..... I do here by sanctioning a sum of Rs. .....Out of which Rs.....as maintenance allowance and Rs. ....as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.

Place: Date:

### **Government of Chhattisgarh**



Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Govt Chandulal Chand. Arts Sci. Coll. Patan

Academic Year: 2018-19

State: Government of Chhattisgarh

Sanction Number: R/8/4760/3/10/86341

Sanction Date: 12/03/2019

Applications Type: Renewal

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1537973	DEVKUMAR SAHU	Male	B. A./Arts/III	Renewal	7	70	490	115	1515	1630	2120
1495532	DEVMANI NONAME	Female	B. A./Arts/II	Renewal	7	85	595	0	1515	1515	2110
1494861	DAMENDRA KUMAR DHANKAR	Male	B. A./Arts/II	Renewal	7	70	490	115	1515	1630	2120
1490080	DHANESHWAR PRASAD SAHU	Male	B. A./Arts/III	Renewal	7	70	490	115	1515	1630	2120
1438458	DEVENDRA KUMAR	Male	B. A./Arts/II	Renewal	7	70	490	115	1515	1630	2120
1437630	DEVANAND SAHU NA	Male	B. A./Arts/III	Renewal	7	70	490	115	1515	1630	2120
1425811	DOLLY NONAME	Female	B. A./Arts/II	Renewal	7	85	595	0	1515	1515	2110
1364203	DURGESH SAHU	Female	B. A./Arts/III	Renewal	7	85	595	0	1515	1515	2110
1371420	DUJ KUMARI	Female	B. A./Arts/III	Renewal	7	85	595	0	1515	1515	2110
1371641	DHANESHWARI SINHA	Female	B. A./Arts/II	Renewal	7	85	595	0	1515	1515	2110
1371921	DURGA NISHAD	Female	B. A./Arts/II	Renewal	7	85	595	0	1515	1515	2110
1380471	DALI NISHAD	Female	B. A./Arts/II	Renewal	9	85	765	0	1515	1515	2280
1399693	DEEPIKA VERMA	Female	B. A./Arts/II	Renewal	7	85	595	0	1515	1515	2110
1427622	DEEPIKA NONAME	Female	B. A./Arts/III	Renewal	7	85	595	0	1515	1515	2110
1374701	DIVYA NONAME	Female	B. A./Arts/II	Renewal	7	85	595	0	1515	1515	2110
1555116	GARIMA NISHAD	Female	B. A./Arts/III	Renewal	7	85	595	0	1515	1515	2110
1535691	GIRIWAR NONAME	Male	B. A./Arts/III	Renewal	7	70	490	115	1515	1630	2120
1533445	GEETU NO NAME	Female	B. A./Arts/II	Renewal	7	85	595	0	1515	1515	2110

#### **Declaration:**

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to ..... I do here by sanctioning a sum of Rs. .....Out of which Rs.....as maintenance allowance and Rs. ....as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.

Place:

Date:

### **Government of Chhattisgarh**



Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Govt Chandulal Chand. Arts Sci. Coll. Patan

Academic Year: 2018-19

State: Government of Chhattisgarh

Sanction Date: 12/03/2019

Sanction Number: R/8/4760/3/10/86341

Applications Type: Renewal

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1451812	GITANJALI CHANDRAKAR	Female	B. A./Arts/III	Renewal	8	85	680	0	1515	1515	2195
1332498	GEETA YADAV	Female	B. A./Arts/II	Renewal	7	85	595	0	1515	1515	2110
1344507	GANGOTRI NONAME	Female	B. A./Arts/II	Renewal	7	85	595	0	1515	1515	2110
1345465	GHANSHYAM VERMA	Male	B. A./Arts/II	Renewal	7	70	490	115	1515	1630	2120
1346138	GAURAV KUMAR	Male	B. A./Arts/II	Renewal	7	70	490	115	1515	1630	2120
1355724	GHANSHYAM NISHAD	Male	B. A./Arts/II	Renewal	7	70	490	115	1515	1630	2120
1374213	GEETANJALI VERMA	Female	M. A./Hindi/II	Renewal	9	100	900	0	5245	5245	6145
1344791	GARIMA DESHMUKH	Female	B. A./Arts/II	Renewal	7	85	595	0	1515	1515	2110
1372893	GAYATRI NO NAME	Female	B. A./Arts/II	Renewal	7	85	595	0	1515	1515	2110
1391299	GULASHAN KUMAR	Male	B. A./Arts/II	Renewal	7	70	490	115	1515	1630	2120
1410722	GOPI CHAND NISHAD	Male	B. A./Arts/II	Renewal	7	70	490	115	1515	1630	2120
1437890	GEETA CHANDRAKAR	Female	B. Sc./Science/II	Renewal	7	85	595	0	1565	1565	2160
1440339	GANGA SAHU	Female	B. A./Arts/III	Renewal	7	85	595	0	1515	1515	2110
1440709	GOMATI YADAV	Female	M. Sc./Zoology/II	Renewal	9	100	900	0	6265	6265	7165
1441181	GEETESHWARI NONAME	Female	M. Sc./Zoology/II	Renewal	9	100	900	0	6265	6265	7165
1461325	GEETA NONAME	Female	B. A./Arts/III	Renewal	7	85	595	0	1515	1515	2110
1380687	GIREESH KAUSHIK	Male	B. Sc./Science/III	Renewal	8	70	560	115	1565	1680	2240
1399564	GEETA NONAME	Female	B. Sc./Science/III	Renewal	8	85	680	0	1565	1565	2245

#### **Declaration:**

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to ..... I do here by sanctioning a sum of Rs. .....Out of which Rs.....as maintenance allowance and Rs. ....as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.

Place: Date:

### **Government of Chhattisgarh**



Scholarship Scheme: Post Matric OBC Scholarship State: Government of Chhattisgarh

Category: OBC Sanction Number: R/8/4760/3/10/86341

Institute Name: Govt Chandulal Chand. Arts Sci. Coll. Patan Sanction Date: 12/03/2019

Academic Year: 2018-19 Applications Type: Renewal

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1399945	GIRISH KUMAR	Male	B. A./Arts/II	Renewal	7	70	490	115	1515	1630	2120
1245199	HEMLATA NO NAME	Female	B. A./Arts/III	Renewal	7	85	595	0	1515	1515	2110
1324213	Hira Lal	Male	M. Sc./Chemistry/II	Renewal	9	100	900	115	6265	6380	7280
1353689	HARISH KUMAR	Male	B. Com./Commerce/II	Renewal	8	70	560	115	1515	1630	2190
1380505	HIMANSHU KUMAR SINHA	Male	B. A./Arts/II	Renewal	7	70	490	115	1515	1630	2120
1383247	HEMA SINHA	Female	M. A./Sociology/II	Renewal	9	100	900	0	1745	1745	2645
1389896	HITESHWARI SAHU	Female	B. A./Arts/II	Renewal	7	85	595	0	1515	1515	2110
1426491	HEENA SAHU	Female	B. A./Arts/II	Renewal	7	85	595	0	1515	1515	2110
1426510	HEMLATA VERMA	Female	B. A./Arts/II	Renewal	7	85	595	0	1515	1515	2110
1442481	HARISH KUMAR NISHAD	Male	B. A./Arts/II	Renewal	7	70	490	115	1515	1630	2120
1461398	HITESHWARI SAHU	Female	B. Com./Commerce/III	Renewal	8	85	680	0	1515	1515	2195
1498094	HEENA DEWANGAN	Female	B. A./Arts/II	Renewal	7	85	595	0	1515	1515	2110
1528036	HIMA SAHU	Female	B. Sc./Science/II	Renewal	7	85	595	0	1565	1565	2160
1537312	HEERALAL CHAKRADHARI	Male	B. A./Arts/III	Renewal	7	70	490	115	1515	1630	2120
1361637	JAGESHWARI SAHU	Female	M. A./Pol. Science/II	Renewal	9	100	900	0	1745	1745	2645
1331275	JYOTI SAHU	Female	B. A./Arts/II	Renewal	7	85	595	0	1515	1515	2110
1362172	JAIN KUMAR	Male	B. A./Arts/II	Renewal	7	70	490	115	1515	1630	2120
1364435	JHARNA NO NAME	Female	B. A./Arts/II	Renewal	7	85	595	0	1515	1515	2110

#### **Declaration:**

Place : Date :

### **Government of Chhattisgarh**



Scholarship Scheme: Post Matric OBC Scholarship State: Government of Chhattisgarh

Category: OBC Sanction Number: R/8/4760/3/10/86341

Institute Name: Govt Chandulal Chand. Arts Sci. Coll. Patan Sanction Date: 12/03/2019

Academic Year: 2018-19 Applications Type: Renewal

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1370325	JYOTI SINHA	Female	B. A./Arts/II	Renewal	7	85	595	0	1515	1515	2110
1391248	JYOTI NO NAME	Female	B. A./Arts/II	Renewal	7	85	595	0	1515	1515	2110
1412778	JYOTI VERMA	Female	B. A./Arts/III	Renewal	7	85	595	0	1515	1515	2110
1424039	JITENDRA KUMAR	Male	B. A./Arts/III	Renewal	7	70	490	115	1515	1630	2120
1424945	JYOTI PATEL	Female	B. A./Arts/III	Renewal	7	85	595	0	1515	1515	2110
1537921	JAGRITI NO NAME	Female	B. A./Arts/III	Renewal	7	85	595	0	1515	1515	2110
1526978	JYOTI VERMA	Female	B. A./Arts/III	Renewal	7	85	595	0	1515	1515	2110
1525397	JAGESHWARI NONAME	Female	B. A./Arts/III	Renewal	7	85	595	0	1515	1515	2110
1385242	JITENDRA KUMAR	Male	B. A./Arts/III	Renewal	7	70	490	115	1515	1630	2120
1393551	JHAPESHWARI SAHU	Female	B. A./Arts/II	Renewal	7	85	595	0	1515	1515	2110
1566128	KIRTI KUMAR NIRMAL	Male	B. A./Arts/III	Renewal	7	70	490	115	1515	1630	2120
1557475	KIRAN NONAME	Male	M. Sc./Zoology/II	Renewal	9	100	900	115	6265	6380	7280
1557296	KHILENDRA KUMAR VERMA	Male	B. A./Arts/III	Renewal	7	70	490	115	1515	1630	2120
1555045	KIRAN NISHAD	Female	B. A./Arts/III	Renewal	7	85	595	0	1515	1515	2110
1279897	KHILESH KUMAR VERMA	Male	B. A./Arts/III	Renewal	7	70	490	115	1515	1630	2120
1330378	KAVITA SAHU	Female	B. A./Arts/II	Renewal	7	85	595	0	1515	1515	2110
1332996	KAJAL VERMA	Female	B. A./Arts/II	Renewal	7	85	595	0	1515	1515	2110
1339479	KAMNI SAHU	Female	B. A./Arts/II	Renewal	7	85	595	0	1515	1515	2110

#### **Declaration:**

Place : Date :

### **Government of Chhattisgarh**



Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Govt Chandulal Chand. Arts Sci. Coll. Patan

Academic Year: 2018-19

State: Government of Chhattisgarh

Ctato: Coronnicon on Cimiatinogan

Sanction Date : 12/03/2019

Sanction Number: R/8/4760/3/10/86341

Applications Type: Renewal

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1341172	KHUSHBU SAHU	Female	B. Com./Commerce/II	Renewal	8	85	680	0	1515	1515	2195
1345816	KULDEEP VERMA	Male	B. A./Arts/III	Renewal	7	70	490	115	1515	1630	2120
1361837	KRISHNAKANT VERMA	Male	M. Sc./Chemistry/II	Renewal	9	100	900	115	6265	6380	7280
1364966	KHOOBCHAND SAHU	Male	B. A./Arts/II	Renewal	7	70	490	115	1515	1630	2120
1549335	KHUSHBU CHANDRAKAR	Female	B. Sc./Science/II	Renewal	7	85	595	0	1565	1565	2160
1537524	KHAMHAN NISHAD	Male	B. A./Arts/II	Renewal	7	70	490	115	1515	1630	2120
1534390	KHILESHWARI PATEL	Female	B. A./Arts/II	Renewal	7	85	595	0	1515	1515	2110
1526376	KALYANI NO NAME	Female	B. A./Arts/II	Renewal	7	85	595	0	1515	1515	2110
1494051	KHILESH KUMAR	Male	B. A./Arts/III	Renewal	7	70	490	115	1515	1630	2120
1436469	KARAN KUMAR	Male	B. A./Arts/II	Renewal	7	70	490	115	1515	1630	2120
1435306	KAMINI SAHU	Female	M. Sc./Chemistry/II	Renewal	9	100	900	0	6265	6265	7165
1424512	KUNDAN LAL	Male	B. A./Arts/II	Renewal	7	70	490	115	1515	1630	2120
1418570	KUMBHKARAN YADAV	Male	M. A./Sociology/II	Renewal	9	100	900	115	1745	1860	2760
1338076	KARUNA VERMA	Female	B. A./Arts/II	Renewal	7	85	595	0	1515	1515	2110
1359346	KAJAL VERMA	Female	B. A./Arts/III	Renewal	7	85	595	0	1515	1515	2110
1381870	KESHAV KUMAR SAHU	Male	B. A./Arts/III	Renewal	7	70	490	115	1515	1630	2120
1399558	KAMINEE DHIVAR	Female	B. A./Arts/II	Renewal	7	85	595	0	1515	1515	2110
1402786	KHILESH KUMAR	Male	B. A./Arts/II	Renewal	7	70	490	115	1515	1630	2120

### **Declaration:**

Place : Date :

### **Government of Chhattisgarh**



Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Govt Chandulal Chand. Arts Sci. Coll. Patan

Academic Year: 2018-19

State: Government of Chhattisgarh

Sanction Number: R/8/4760/3/10/86341

Sanction Date: 12/03/2019

Applications Type: Renewal

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1525559	KANCHAN NO NAME	Female	B. Com./Commerce/III	Renewal	8	85	680	0	1515	1515	2195
1424861	KUMUD SAHU	Female	B. Sc./Science/III	Renewal	8	85	680	0	1565	1565	2245
1404001	KIRTI PATEL	Female	B. Sc./Science/II	Renewal	8	85	680	0	1565	1565	2245
1399356	KAMINI YADAV	Female	B. A./Arts/II	Renewal	7	85	595	0	1515	1515	2110
1403430	KIRAN VERMA	Female	B. Com./Commerce/II	Renewal	8	85	680	0	1515	1515	2195
1408411	KRISHNA SAHU	Male	B. A./Arts/II	Renewal	7	70	490	115	1515	1630	2120
1422985	KAVITA NISHAD	Female	B. Sc./Science/II	Renewal	8	85	680	0	1565	1565	2245
1442691	KUBER VERMA	Male	B. A./Arts/II	Renewal	7	70	490	115	1515	1630	2120
1493704	KHILESHWARI NONAME	Female	B. A./Arts/II	Renewal	7	85	595	0	1515	1515	2110
1249282	LOKENDRA KUMAR	Male	B. A./Arts/III	Renewal	7	70	490	115	1515	1630	2120
1365185	LIKHESHWAR KUMAR	Male	B. A./Arts/II	Renewal	7	70	490	115	1515	1630	2120
1371619	LEKHRAJ VERMA	Male	B. A./Arts/II	Renewal	7	70	490	115	1515	1630	2120
1381751	LALITA VERMA	Female	B. A./Arts/II	Renewal	7	85	595	0	1515	1515	2110
1429228	LALA RAM	Male	B. A./Arts/III	Renewal	7	70	490	115	1515	1630	2120
1584984	LALIT KUMAR	Male	M. Sc./Mathematics/II	Renewal	9	100	900	115	1745	1860	2760
1573813	LIKESH KUMAR SAHU	Male	B. A./Arts/II	Renewal	7	70	490	115	1515	1630	2120
1503393	LAKESHWARI NONAME	Female	B. Sc./Science/III	Renewal	8	85	680	0	1565	1565	2245
1546368	LEKESHWARI SAHU	Female	B. A./Arts/III	Renewal	7	85	595	0	1515	1515	2110

### **Declaration:**

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to ..... I do here by sanctioning a sum of Rs. .....Out of which Rs.....as maintenance allowance and Rs. ....as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.

Place: Date:

### **Government of Chhattisgarh**



Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Govt Chandulal Chand. Arts Sci. Coll. Patan

Academic Year: 2018-19

State: Government of Chhattisgarh

Sanction Date: 12/03/2019

Sanction Number: R/8/4760/3/10/86341

Applications Type: Renewal

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1610733	MOONGA NO	Female	M. Sc./Zoology/II	Renewal	9	100	900	0	6265	6265	7165
1589219	MONIKA SAHU	Female	B. Sc./Science/II	Renewal	7	85	595	0	1565	1565	2160
1556090	MANOJ KUMAR	Male	B. A./Arts/III	Renewal	7	70	490	115	1515	1630	2120
1556015	MONIKA NONAME	Female	B. A./Arts/II	Renewal	7	85	595	0	1515	1515	2110
1555910	MILESH KUMAR SAHU	Male	B. A./Arts/III	Renewal	7	70	490	115	1515	1630	2120
1527780	MADHU SAHU	Female	B. Sc./Science/II	Renewal	7	85	595	0	1565	1565	2160
1507285	MONIKA SAHU	Female	B. A./Arts/III	Renewal	7	85	595	0	1515	1515	2110
1427392	MANSI NA	Female	B. A./Arts/II	Renewal	7	85	595	0	1515	1515	2110
1332170	MENKA NISHAD	Female	B. A./Arts/II	Renewal	7	85	595	0	1515	1515	2110
1333873	MUKESH KUMAR	Male	B. Sc./Science/II	Renewal	8	70	560	115	1565	1680	2240
1336451	MONIKA NONAMAE	Female	B. Com./Commerce/II	Renewal	8	85	680	0	1515	1515	2195
1339416	MANEESHA NONAME	Female	B. A./Arts/II	Renewal	7	85	595	0	1515	1515	2110
1347245	MUKESH KUMAR PATEL	Male	B. A./Arts/III	Renewal	8	70	560	115	1515	1630	2190
1358280	MADHU DEWANGAN	Female	B. Sc./Science/II	Renewal	8	85	680	0	1565	1565	2245
1370882	MEGHA DEWANGAN	Female	B. A./Arts/II	Renewal	7	85	595	0	1515	1515	2110
1371456	MUKESH KUMAR	Male	B. Sc./Science/II	Renewal	8	70	560	115	1565	1680	2240
1520788	MANISHA VERMA	Female	B. Sc./Science/II	Renewal	7	85	595	0	1565	1565	2160
1510077	MADHU NONAME	Female	B. A./Arts/II	Renewal	7	85	595	0	1515	1515	2110

### **Declaration:**

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to ..... I do here by sanctioning a sum of Rs. .....Out of which Rs.....as maintenance allowance and Rs. ....as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.

Place: Date:

### **Government of Chhattisgarh**



Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Govt Chandulal Chand. Arts Sci. Coll. Patan

Academic Year: 2018-19

State: Government of Chhattisgarh

Sanction Date: 12/03/2019

Sanction Number: R/8/4760/3/10/86341

Applications Type: Renewal

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1500411	MANSI VERMA	Female	B. A./Arts/III	Renewal	7	85	595	0	1515	1515	2110
1494159	MANJU SEN	Female	B. A./Arts/III	Renewal	7	85	595	0	1515	1515	2110
1496585	MADHURI NONAME	Female	B. A./Arts/II	Renewal	7	85	595	0	1515	1515	2110
1425354	MANIKA SAHU	Female	B. A./Arts/III	Renewal	7	85	595	0	1515	1515	2110
1344950	MALTI NISHAD	Female	B. Sc./Science/II	Renewal	8	85	680	0	1565	1565	2245
1371990	MANISH KUMAR	Male	B. A./Arts/II	Renewal	7	70	490	115	1515	1630	2120
1373756	MOHIT KUMAR NONAME	Male	B. A./Arts/II	Renewal	7	70	490	115	1515	1630	2120
1380674	MAMTA PRAJAPATI	Female	B. A./Arts/II	Renewal	7	85	595	0	1515	1515	2110
1392293	MAMTA SAHU	Female	B. A./Arts/III	Renewal	7	85	595	0	1515	1515	2110
1392502	MANJU SINHA	Female	B. A./Arts/III	Renewal	8	85	680	0	1515	1515	2195
1400581	MINAKSHEE CHANDRAKAR	Female	B. A./Arts/II	Renewal	7	85	595	0	1515	1515	2110
1403203	MOKSHA KUMAR	Male	B. Sc./Science/II	Renewal	8	70	560	115	1565	1680	2240
1486690	MONIKA CHAKRADHARI	Female	B. A./Arts/II	Renewal	7	85	595	0	1515	1515	2110
1592533	NAGRAJ KASHYAP	Male	B. A./Arts/III	Renewal	7	70	490	115	1515	1630	2120
1586766	NAKUL CHAKRADHARI	Male	B. A./Arts/II	Renewal	7	70	490	115	1515	1630	2120
1574639	NANDANI SAHU	Female	B. A./Arts/II	Renewal	7	85	595	0	1515	1515	2110
1544144	NEHA SONI	Female	B. A./Arts/II	Renewal	7	85	595	0	1515	1515	2110
1525135	NIDHI SAHU	Female	B. Sc./Science/III	Renewal	8	85	680	0	1565	1565	2245

### **Declaration:**

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to ..... I do here by sanctioning a sum of Rs. .....Out of which Rs.....as maintenance allowance and Rs. ....as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.

Place: Date:

### **Government of Chhattisgarh**



Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Govt Chandulal Chand. Arts Sci. Coll. Patan

Academic Year: 2018-19

State: Government of Chhattisgarh

otato: otronimon or ormatiogan

Sanction Date: 12/03/2019

Sanction Number: R/8/4760/3/10/86341

Applications Type: Renewal

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1448122	NIKITA DEWANGAN	Female	B. Sc./Science/II	Renewal	8	85	680	0	1565	1565	2245
1424222	NIKHIL NONAME	Male	B. A./Arts/II	Renewal	7	70	490	115	1515	1630	2120
1247137	NANDANI NO NAME	Female	B. A./Arts/III	Renewal	7	85	595	0	1515	1515	2110
1248952	NUTAN SAHU	Female	B. A./Arts/III	Renewal	7	85	595	0	1515	1515	2110
1292219	NIHARIKA SINHA	Female	B. A./Arts/III	Renewal	7	85	595	0	1515	1515	2110
1295697	NOHAR LAL SAHU	Male	B. Sc./Science/III	Renewal	7	70	490	115	1565	1680	2170
1327243	NEELAM SAHU	Female	B. Sc./Science/II	Renewal	8	85	680	0	1565	1565	2245
1331442	NIDHI VERMA	Female	B. A./Arts/II	Renewal	7	85	595	0	1515	1515	2110
1337944	NEHA VERMA	Female	B. A./Arts/II	Renewal	7	85	595	0	1515	1515	2110
1344847	NISHA PATEL	Female	B. A./Arts/II	Renewal	7	85	595	0	1515	1515	2110
1391141	NEHA SAHU	Female	B. A./Arts/II	Renewal	7	85	595	0	1515	1515	2110
1407439	NEELMANI VERMA	Male	B. A./Arts/II	Renewal	7	70	490	115	1515	1630	2120
1436417	NANDINI SEN	Female	B. A./Arts/II	Renewal	7	85	595	0	1515	1515	2110
1517246	NIDHI VERMA	Female	B. A./Arts/II	Renewal	7	85	595	0	1515	1515	2110
1339716	NEHA SAHU	Female	B. Sc./Science/II	Renewal	7	85	595	0	1565	1565	2160
1339231	OMESHWARI NONAME	Female	B. A./Arts/II	Renewal	7	85	595	0	1515	1515	2110
1424715	OM PRAKASH NA	Male	B. A./Arts/III	Renewal	8	70	560	115	1515	1630	2190
1519993	OMESHWARI YADAV	Female	B. A./Arts/III	Renewal	7	85	595	0	1515	1515	2110

#### **Declaration:**

Place : Date :

### **Government of Chhattisgarh**



Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Govt Chandulal Chand. Arts Sci. Coll. Patan

Academic Year: 2018-19

State: Government of Chhattisgarh

Sanction Date: 12/03/2019

Sanction Number: R/8/4760/3/10/86341

Applications Type: Renewal

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1523768	OMKUMARI NO NAME	Female	B. A./Arts/II	Renewal	7	85	595	0	1515	1515	2110
1327303	YUGALKISHOR SAHU	Male	M. A./Sociology/II	Renewal	9	100	900	115	1745	1860	2760
1330007	YOGESH KUMAR	Male	B. Sc./Science/II	Renewal	8	70	560	115	1565	1680	2240
1363985	YAD RAM	Male	B. Sc./Science/II	Renewal	8	70	560	115	1565	1680	2240
1391491	YASHWANT KUMAR SEN	Male	B. A./Arts/III	Renewal	7	70	490	115	1515	1630	2120
1391675	YASHODA NISHAD	Female	B. A./Arts/II	Renewal	7	85	595	0	1515	1515	2110
1426872	YACHIKA PATEL	Female	B. A./Arts/II	Renewal	9	85	765	0	1515	1515	2280
1435506	YASHUMATI NISHAD	Female	B. A./Arts/II	Renewal	7	85	595	0	1515	1515	2110
1555924	YUVRAJ NONAME	Male	B. A./Arts/III	Renewal	7	70	490	115	1515	1630	2120
1425906	YASHWANT KUMAR	Male	B. A./Arts/II	Renewal	7	70	490	115	1515	1630	2120
1441371	YISHULATA NONAME	Female	B. Sc./Science/II	Renewal	8	85	680	0	1565	1565	2245
1609621	VANDANA VERMA	Female	B. A./Arts/III	Renewal	7	85	595	0	1515	1515	2110
1577705	VINOD KUMAR	Male	M. A./Hindi/II	Renewal	9	100	900	115	5245	5360	6260
1576188	VISHNU PRASAD	Male	B. A./Arts/II	Renewal	7	70	490	115	1515	1630	2120
1535315	VARSHA NONAME	Female	B. Sc./Science/II	Renewal	7	85	595	0	1565	1565	2160
1517777	VEDPRAKASH NISHAD	Male	B. Sc./Science/III	Renewal	7	70	490	115	1565	1680	2170
1425247	VIVEK KUMAR DADSENA	Male	B. Com./Commerce/II	Renewal	8	70	560	115	1515	1630	2190
1274942	VARSHA YADAV	Female	B. A./Arts/III	Renewal	7	85	595	0	1515	1515	2110

#### **Declaration:**

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to ..... I do here by sanctioning a sum of Rs. .....Out of which Rs.....as maintenance allowance and Rs. ....as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.

Place: Date:

### **Government of Chhattisgarh**



Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Govt Chandulal Chand. Arts Sci. Coll. Patan

Academic Year: 2018-19

State: Government of Chhattisgarh

Sanction Date: 12/03/2019

Sanction Number: R/8/4760/3/10/86341

Applications Type: Renewal

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1330678	VINAY KUMAR	Male	B. A./Arts/II	Renewal	7	70	490	115	1515	1630	2120
1336387	VIKAS KUMAR	Male	B. Sc./Science/II	Renewal	8	70	560	115	1565	1680	2240
1345406	VIDYA SAHU	Female	B. A./Arts/II	Renewal	7	85	595	0	1515	1515	2110
1361913	VIKAS SINHA	Male	B. A./Arts/II	Renewal	7	70	490	115	1515	1630	2120
1343965	VED PRAKASH SAHU	Male	B. A./Arts/III	Renewal	7	70	490	115	1515	1630	2120
1355351	VANDANA SAHU	Female	B. A./Arts/II	Renewal	7	85	595	0	1515	1515	2110
1362008	VARSHA VERMA	Female	B. Sc./Science/II	Renewal	8	85	680	0	1565	1565	2245
1375607	VAISHALI SAHU	Female	B. Sc./Science/III	Renewal	8	85	680	0	1565	1565	2245
1424146	VINAY VERMA	Male	B. A./Arts/III	Renewal	7	70	490	115	1515	1630	2120
1425709	VIKAS KUMAR VERMA	Male	B. A./Arts/III	Renewal	7	70	490	115	1515	1630	2120
1495701	VEENA KUMARI	Female	B. A./Arts/II	Renewal	7	85	595	0	1515	1515	2110
1523931	VIDYA NO NAME	Female	B. Sc./Science/III	Renewal	7	85	595	0	1565	1565	2160
1247353	TILESHWARI NO NAME	Female	B. A./Arts/III	Renewal	7	85	595	0	1515	1515	2110
1261038	PRAHLAD SAHU	Male	B. Sc./Science/II	Renewal	7	70	490	115	1565	1680	2170
1289281	TAMESHWARI NO NAME	Female	B. A./Arts/II	Renewal	7	85	595	0	1515	1515	2110
1290095	PAWAN KUMAR	Male	B. Sc./Science/III	Renewal	7	70	490	115	1565	1680	2170
1304050	TARNEE NO NAME	Female	M. A./Pol. Science/II	Renewal	9	100	900	0	1745	1745	2645
1326483	TULESHWARI NONAME	Female	B. A./Arts/II	Renewal	7	85	595	0	1515	1515	2110

#### **Declaration:**

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to ..... I do here by sanctioning a sum of Rs. .....Out of which Rs.....as maintenance allowance and Rs. ....as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.

Place:

Date:

### **Government of Chhattisgarh**



Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Govt Chandulal Chand. Arts Sci. Coll. Patan

Academic Year: 2018-19

State: Government of Chhattisgarh

Sanction Date: 12/03/2019

Sanction Number: R/8/4760/3/10/86341

Applications Type: Renewal

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1330602	ROHINI PATEL	Female	B. A./Arts/II	Renewal	7	85	595	0	1515	1515	2110
1330763	TARKESHWARI SAHU	Female	B. A./Arts/II	Renewal	7	85	595	0	1515	1515	2110
1391981	VANDANA NIRMALKAR	Female	B. A./Arts/III	Renewal	7	85	595	0	1515	1515	2110
1364998	URVASHI KOSE	Female	B. A./Arts/III	Renewal	7	85	595	0	1515	1515	2110
1609706	UPASANA NONAME	Female	B. A./Arts/III	Renewal	7	85	595	0	1515	1515	2110
1609932	TABBU SAHU	Female	B. A./Arts/III	Renewal	7	85	595	0	1515	1515	2110
1576914	TIKA RAM	Male	B. A./Arts/III	Renewal	7	70	490	115	1515	1630	2120
1556480	TULSEE RAM	Male	B. A./Arts/II	Renewal	7	70	490	115	1515	1630	2120
1513064	TWINKAL SAHU	Female	B. A./Arts/III	Renewal	7	85	595	0	1515	1515	2110
1332707	TRIVENEE SAHU	Female	B. Sc./Science/II	Renewal	8	85	680	0	1565	1565	2245
1345857	TEJPRAKASH TETHWAR	Male	B. A./Arts/II	Renewal	7	70	490	115	1515	1630	2120
1348192	TOMAN LAL	Male	B. Sc./Science/III	Renewal	8	70	560	115	1565	1680	2240
1358651	TORAN LAL	Male	M. A./Sociology/II	Renewal	9	100	900	115	1745	1860	2760
1366157	TUKESHWAR SAHU	Male	B. A./Arts/II	Renewal	7	70	490	115	1515	1630	2120
1371142	TIKESHWARI SAHU	Female	B. A./Arts/II	Renewal	7	85	595	0	1515	1515	2110
1390932	TOSHIKA NIRMALKAR	Female	B. A./Arts/II	Renewal	7	85	595	0	1515	1515	2110
1394368	TARUN KUMAR	Male	B. A./Arts/III	Renewal	7	70	490	115	1515	1630	2120
1422166	TESU VERMA	Female	B. Sc./Science/II	Renewal	7	85	595	0	1565	1565	2160

### **Declaration:**

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to ..... I do here by sanctioning a sum of Rs. .....Out of which Rs.....as maintenance allowance and Rs. ....as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.

Place: Date:

### **Government of Chhattisgarh**



Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Govt Chandulal Chand. Arts Sci. Coll. Patan

Academic Year: 2018-19

State: Government of Chhattisgarh

Sanction Date: 12/03/2019

Sanction Number: R/8/4760/3/10/86341

Applications Type: Renewal

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1432936	TARA VERMA	Female	B. A./Arts/III	Renewal	8	85	680	0	1515	1515	2195
1484445	TILESHWARI NISHAD	Female	B. A./Arts/III	Renewal	7	85	595	0	1515	1515	2110
1402714	TARUN KUMAR	Male	B. Sc./Science/II	Renewal	8	70	560	115	1565	1680	2240
1332110	SURAJ KUMAR	Male	B. A./Arts/II	Renewal	7	70	490	115	1515	1630	2120
1347538	SWATI SAHU	Female	M. A./Sociology/II	Renewal	9	100	900	0	1745	1745	2645
1348345	SUBHAM KUMAR	Male	B. A./Arts/II	Renewal	7	70	490	115	1515	1630	2120
1352384	SEETA SAHU	Female	B. Sc./Science/III	Renewal	8	85	680	0	1565	1565	2245
1363431	SANDHYA SAHU	Female	B. A./Arts/II	Renewal	7	85	595	0	1515	1515	2110
1365426	SHASHI SAHU	Female	B. Com./Commerce/II	Renewal	8	85	680	0	1515	1515	2195
1365939	SHEKHAR KUMAR	Male	B. A./Arts/II	Renewal	7	70	490	115	1515	1630	2120
1370368	SAVITA SINHA	Female	B. Sc./Science/II	Renewal	8	85	680	0	1565	1565	2245
1371361	SONAM VERMA	Female	B. Sc./Science/II	Renewal	8	85	680	0	1565	1565	2245
1381098	SANJAY KUMAR	Male	B. A./Arts/II	Renewal	7	70	490	115	1515	1630	2120
1382277	SHESHNARAYAN NISHAD	Male	B. A./Arts/III	Renewal	7	70	490	115	1515	1630	2120
1390819	SEEMA VERMA	Female	B. A./Arts/II	Renewal	7	85	595	0	1515	1515	2110
1612131	SUMIT KUMAR	Male	B. A./Arts/III	Renewal	8	70	560	115	1515	1630	2190
1609801	SUNIL KUMAR	Male	B. Sc./Science/II	Renewal	7	70	490	115	1565	1680	2170
1594682	SUSHMA SAHU	Female	B. Sc./Science/III	Renewal	7	85	595	0	1565	1565	2160

### **Declaration:**

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to ..... I do here by sanctioning a sum of Rs. .....Out of which Rs.....as maintenance allowance and Rs. ....as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.

Place: Date:

### **Government of Chhattisgarh**



Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Govt Chandulal Chand. Arts Sci. Coll. Patan

Academic Year: 2018-19

State: Government of Chhattisgarh

Sanction Date: 12/03/2019

Sanction Number: R/8/4760/3/10/86341

Applications Type: Renewal

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1587156	SUMAN DADSENA	Female	B. Sc./Science/III	Renewal	8	85	680	0	1565	1565	2245
1554871	SONALI NISHAD	Female	B. Sc./Science/III	Renewal	8	85	680	0	1565	1565	2245
1552220	SHESHNARAYAN PATEL	Male	B. Sc./Science/III	Renewal	8	70	560	115	1565	1680	2240
1531576	SOHANLAL VERMA	Male	B. A./Arts/II	Renewal	7	70	490	115	1515	1630	2120
1519555	SANDHYA NONAME	Female	B. A./Arts/II	Renewal	7	85	595	0	1515	1515	2110
1332867	SUSMITA VERMA	Female	B. A./Arts/II	Renewal	7	85	595	0	1515	1515	2110
1394554	SHEKHAR KUMAR	Male	B. A./Arts/II	Renewal	7	70	490	115	1515	1630	2120
1404041	SANDHYA VERMA	Female	M. A./Hindi/II	Renewal	9	100	900	0	5245	5245	6145
1411852	SUMAN VERMA NO	Female	B. A./Arts/III	Renewal	7	85	595	0	1515	1515	2110
1424639	SAKSHI VERMA	Female	B. A./Arts/II	Renewal	7	85	595	0	1515	1515	2110
1427636	SONAL VERMA	Female	B. Sc./Science/II	Renewal	8	85	680	0	1565	1565	2245
1431916	SONKIRAN PATEL	Female	M. Sc./Botany/II	Renewal	9	100	900	0	6265	6265	7165
1493190	SONAM NONAME	Female	M. A./Sociology/II	Renewal	9	100	900	0	1745	1745	2645
1518168	SWETA NONAME	Female	B. Com./Commerce/II	Renewal	8	85	680	0	1515	1515	2195
1518767	SURAJ KUMAR	Male	B. Sc./Science/II	Renewal	7	70	490	115	1565	1680	2170
1528226	SURYAKANT NONAME	Male	B. A./Arts/III	Renewal	7	70	490	115	1515	1630	2120
1406847	SUMEET DEWANGAN	Male	B. A./Arts/II	Renewal	7	70	490	115	1515	1630	2120
1609490	RAJESHWARI YADAV	Female	B. A./Arts/III	Renewal	8	85	680	0	1515	1515	2195

### **Declaration:**

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to ..... I do here by sanctioning a sum of Rs. .....Out of which Rs.....as maintenance allowance and Rs. ....as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.

Place: Date:

### **Government of Chhattisgarh**



Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Govt Chandulal Chand. Arts Sci. Coll. Patan

Academic Year: 2018-19

State: Government of Chhattisgarh

Sanction Date: 12/03/2019

Sanction Number: R/8/4760/3/10/86341

Applications Type: Renewal

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1566233	RAHUL KUMAR	Male	B. A./Arts/II	Renewal	7	70	490	115	1515	1630	2120
1548397	RAJESHWARI CHANDRAKAR	Female	B. A./Arts/III	Renewal	7	85	595	0	1515	1515	2110
1528869	RATNA SAHU	Female	B. A./Arts/III	Renewal	7	85	595	0	1515	1515	2110
1525303	REVA RAM	Male	B. A./Arts/III	Renewal	7	70	490	115	1515	1630	2120
1517800	RASHMI PATEL	Female	B. A./Arts/II	Renewal	7	85	595	0	1515	1515	2110
1509468	RUCHI SAHU	Female	B. A./Arts/II	Renewal	7	85	595	0	1515	1515	2110
1579912	POONAM SAHU	Female	B. A./Arts/III	Renewal	7	85	595	0	1515	1515	2110
1537803	PUSHPENDRA KUMAR	Male	B. A./Arts/III	Renewal	7	70	490	115	1515	1630	2120
1502656	PURUSHOTTAM DAS	Male	B. Sc./Science/II	Renewal	7	70	490	115	1565	1680	2170
1506757	PRIYANKA VERMA	Female	B. A./Arts/II	Renewal	7	85	595	0	1515	1515	2110
1493821	PARMANAND NONAME	Male	B. A./Arts/II	Renewal	7	70	490	115	1515	1630	2120
1454854	PITAMBAR NISHAD	Male	B. A./Arts/III	Renewal	7	70	490	115	1515	1630	2120
1436705	POSHAN LAL	Male	B. A./Arts/II	Renewal	7	70	490	115	1515	1630	2120
1429187	PAYAL SAHU	Female	B. A./Arts/III	Renewal	7	85	595	0	1515	1515	2110
1408285	PUSHKAR SAHU	Male	B. A./Arts/II	Renewal	7	70	490	115	1515	1630	2120
1338721	PRAVEEN DEWANGAN	Male	B. Sc./Science/II	Renewal	7	70	490	115	1565	1680	2170
1344583	POONAM VERMA	Female	B. A./Arts/II	Renewal	7	85	595	0	1515	1515	2110
1360962	PUSHPALATA SINHA	Female	B. Sc./Science/II	Renewal	8	85	680	0	1565	1565	2245

#### **Declaration:**

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to ..... I do here by sanctioning a sum of Rs. .....Out of which Rs.....as maintenance allowance and Rs. ....as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.

Place: Date:

### **Government of Chhattisgarh**



Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Govt Chandulal Chand. Arts Sci. Coll. Patan

Academic Year: 2018-19

State: Government of Chhattisgarh

Sanction Date: 12/03/2019

Sanction Number: R/8/4760/3/10/86341

Applications Type: Renewal

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1370290	PRATIMA NISHAD	Female	B. A./Arts/II	Renewal	7	85	595	0	1515	1515	2110
1383358	PUSHPANJALI SAHU	Female	B. A./Arts/II	Renewal	7	85	595	0	1515	1515	2110
1388833	POOJA SONI	Female	B. Sc./Science/II	Renewal	8	85	680	0	1565	1565	2245
1387410	PALLAVI VERMA	Female	B. A./Arts/II	Renewal	7	85	595	0	1515	1515	2110
1424294	PREETI NISHAD	Female	B. Sc./Science/II	Renewal	7	85	595	0	1565	1565	2160
1426085	PREMLATA SAHU	Female	B. A./Arts/II	Renewal	7	85	595	0	1515	1515	2110
1344759	RAVI KUMAR VERMA	Male	B. A./Arts/II	Renewal	7	70	490	115	1515	1630	2120
1370326	RENUKA SINHA	Female	B. A./Arts/II	Renewal	7	85	595	0	1515	1515	2110
1370372	RAJESHWARI PAL	Female	B. A./Arts/II	Renewal	7	85	595	0	1515	1515	2110
1374716	RENUKA VERMA	Female	B. Sc./Science/II	Renewal	8	85	680	0	1565	1565	2245
1393485	REKHA VERMA	Female	B. A./Arts/II	Renewal	7	85	595	0	1515	1515	2110
1399786	RUPALI NO NAME	Female	B. Sc./Science/II	Renewal	8	85	680	0	1565	1565	2245
1400093	RASHMI SAHU	Female	B. A./Arts/II	Renewal	7	85	595	0	1515	1515	2110
1410476	RUKMANI SAHU	Female	B. Sc./Science/II	Renewal	8	85	680	0	1565	1565	2245
1426672	RANJANI VERMA	Female	B. A./Arts/II	Renewal	7	85	595	0	1515	1515	2110
1495440	REENA NONAME	Female	B. A./Arts/III	Renewal	7	85	595	0	1515	1515	2110
1500267	RITU NONAME	Female	B. Sc./Science/II	Renewal	8	85	680	0	1565	1565	2245
1501134	RENUKA PATEL	Female	B. Sc./Science/II	Renewal	7	85	595	0	1565	1565	2160

#### **Declaration:**

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to ..... I do here by sanctioning a sum of Rs. .....Out of which Rs.....as maintenance allowance and Rs. ....as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.

Place:

Date:

### **Government of Chhattisgarh**



Scholarship Scheme: Post Matric OBC Scholarship State: Government of Chhattisgarh

Category: OBC Sanction Number: R/8/4760/3/10/86341

Institute Name: Govt Chandulal Chand. Arts Sci. Coll. Patan Sanction Date: 12/03/2019

Academic Year: 2018-19 Applications Type: Renewal

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1390020	BHUNESHWARI SAHU	Female	B. A./Arts/II	Renewal	7	85	595	0	1515	1515	2110
1443604	BHUMIKA VERMA	Female	B. A./Arts/II	Renewal	7	85	595	0	1515	1515	2110
1508575	BHAVANA VERMA	Female	B. A./Arts/III	Renewal	7	85	595	0	1515	1515	2110
1534266	CHHAGAN LAL SINHA	Male	B. A./Arts/II	Renewal	7	70	490	115	1515	1630	2120
	Total :							22885	1105240	1128125	1488185

### **Declaration:**

Place : Date :